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Do not open this Test Booklet until you are asked to do so.
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Read carefully the Instructions on the Back Cover of this Test Booklet.
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This Booklet contains
48 pages including
Rough Page.
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¥ 35, 51 9@ 85, 101 ¥ 135 WA 151 & 185)
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Important Instructions :

1. The Answer Sheet is inside this Test Booklet. When

you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars on ORIGINAL Copy
carefully with blue/black ball point pen only.

2. The test is of 3 hours 20 minutes duration and the Test Booklet
contains 200 multiple-choice questions (four options
with a single correct answer) from Physics, Chemistry
and Biology (Botany and Zoology). 50 questions in
each subject are divided into two Sections (A and B)
as per details given below :

(a) Section A shall consist of 35 (Thirty-five) Questions
in each subject (Question Nos — 1 to 35,
51 to 85, 101 to 135 and 151 to 185). All questions
are compulsory.

(b) Section B shall consist of 15 (Fifteen) questions in

each subject (Question Nos — 36 to 50, 86 to 100, 136
to 150 and 186 to 200). In Section B, a candidate
needs to attempt any 10 (Ten) questions out of 15
(Fifteen) in each subject.
Candidates are advised to read all 15 questions
in each subject of Section B before they start
attempting the question paper. In the event of a
candidate attempting more than ten questions, the
first ten questions answered by the candidate
shall be evaluated.

3. Each question carries 4 marks. For each correct response,
the candidate will get 4 marks. For each incorrect
response, one mark will be deducted from the total
scores. The maximum marks are 720.

4. Use Blue/Black Ball Point Pen only for writing
particulars on this page/marking responses on Answer
Sheet.

5. Rough work is to be done in the space provided for this
purpose in the Test Booklet only.
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In case of any ambiguity in translation of any question. English version shall be treated as final.
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Physics : Section-A (Q. No. 1 to 35) |

A bob is whirled in a horizontal plane by means
of a string with an initial speed of ® rpm. The
tension in the string is 7. If speed becomes 2 ®
while keeping the same radius, the tension in the

string becomes :
() 1 (2) 4r

3) % @) 21

A particle moving with uniform speed in a circular
path maintains :

(1) constant velocity.

(2) constant acceleration.

(3) constant velocity but varying acceleration.
(4) varying velocity and varying acceleration.

A logic circuit provides the output Y as per the
following truth table :

- o = ol
o = o —|~

The expression for the output Yis :

(1) 4B+4 (2) AB+4
3) B 4) B
- - H - -
b= 1T
N SH——>
A T dp
Solenoid - 1 Solenoid -2

In the above diagram, a strong bar magnet is
moving towards solenoid-2 from solenoid-1. The
direction of induced current in solenoid-1 and that
in solenoid-2, respectively, are through the
directions:

(1) ABand DC
(3) ABand CD

(2) BAand CD
(4) BAand DC
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T MW Bl I & Aferel O A 36 Yo TATAT ST &
fop saa gty T © rpm ¥ 1S A o TR 1A
a1 @l 99 @t 9| 2 & Sl s ar S A
GRIEKIRIE

(1) T (2) 4T
O 4 ~2r

Teh JATHT T8 I THEHT ATl & T T HOT ST
@Ae

(1) f=aam

(2) frEa @

(3) fraa T g ufEdt @

(4) it o ue afet @R

frrefaiad g&ar el & FTER Uh @isd 9y
frta ¥ e & &

A|B|Y

010 |1

0Of1 (0

110 |1

1 |1 1]0
fta Y & foe =ietas @
(1) AB+4 (2) AB+4
3 B 4) B
- - — - -
s

N S—

PARRAN Jd
gfeATeren— 1 gfeATteTe—2

ST fos & T i B gREw ufeiiae-1 &
afteiferer—2 @ e Tifq & @ ¥ ufiefaer-1 &
Ui g &t feem qun ufiefae—2 o uia g &
feom st fegmen & #:

(1) ABwa DC (2) BATWECD
(3) ABwE CD (4) BAwE DC
[ Contd...
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Given below are two statements: one is labelled
as Assertion A and the other is labelled as
Reason R.

Assertion A : The potential (V) at any axial point,
at 2 m distance(r) from the centre of the dipole

%
of dipole moment vector p of magnitude,

4x106Cm,is +9x10° V.

1 9
(Take =9x10" g1 units)

T €

2P
Reason R : V=%
dneyr

distance of any axial point, situated at 2 m from
the centre of the dipole.
In the light of the above statements, choose the
correct answer from the options given below:
(1) Both A and R are true and R is the correct

explanation of A.
(2) Both A and R are true and R is NOT the

correct explanation of A.
(3) Aistrue but R is false.
(4) Ais false but R is true.

5 where r is the

Match List-I with List-II.

List-1 List-11
(Material) (Susceptibility (7))
Diamagnetic . x=0
Ferromagnetic II. 0>y=>-1
Paramagnetic L.y >>1
Non-magnetic IV. 0<y <€ (asmall

positive number)
Choose the correct answer from the options given
below:
(1) A-IIL, B-III, C-1V, D-1
(2) A-II, B-I, C-III, D-IV
(3) A-III, B-II, C-I, D-IV
(4) A-IV, B-III, C-II, D-I

In a uniform magnetic field of 0.049 T, a magnetic
needle performs 20 complete oscillations in
5 seconds as shown. The moment of inertia of the
needle is 9.8 x 107 kg m?2. If the magnitude of
magnetic moment of the needle is x x 10~ Am?;
then the value of “x’ is :

() 12877
(4) 128072

(M
3)
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a3 wu 6 T T U B AfwAT A 9°T @ B
F R ¥ fated foar w1 31
AFH A 2 4 x 1070 C m ufmm, faga smeet afee

P e fasga % s & 2 Bl () T P v g
wfawa +9x10° ¥ 1

L =9x10° SI 71h)
0

TR V=t — i A EE A2 m
drnegr

@ 8 ux faa fopdlt erefar famg &t i 2

U BT &b SR IR, A9 5 T fasbedi & @2

I g

(1) STATRTEE quT R, A ol T =ara £

(2) I ATRTEE quT R, A &l & =FrEAn 7w 7

(3) A G Uty R WA 51

(4) AT@d s 9tg R W1 81

Al 1 o1 g 1 & fra it

T T 1l

(e (Traeia wgfa- )

A. wlagee™ L x=0

B. e gaam . 0>y>-1

C. sggEa™ .y >>1

D. sgEa™ IV. 0<y <& (usge
YHATHD &A1)

T fou g el @ @@ 3T g

(1) A-II, B-II, C-1V, D-I
(2) A-ll, B-I, C-II, D-IV
(3) A-IIL, B-II, C-1, D-IV
(4) A-1V, B-III, C-I1, D-I

0.049 T % U% THEHH JEahid & H U TEHa G5
5 ¥ebs # 20 3o U il & (g 158 &1 S5
et 9.8 x 100 kg m? ¥ | afs g2 &1 graabr s

B AT x x 1075 Am2 & al “x’ &l |14 &

(1) 5n° (2) 12877

(3) 50n2 (4) 1280 2
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In an ideal transformer, the turns ratio is —— = 5
S

The ratio V: Vp is equal to (the symbols carry

their usual meaning) :

(1 1:2 2) 2:1

3) 1:1 4 1:4

In a vernier calipers, (N + 1) divisions of vernier
scale coincide with N divisions of main scale. If
1 MSD represents 0.1 mm, the vernier constant
(incm) is :

I 1
W oy @ oo+
(3) 100N @) 10N+1)

A horizontal force 10 N is applied to a block 4 as
shown in figure. The mass of blocks 4 and B are
2 kg and 3 kg, respectively. The blocks slide over
a frictionless surface. The force exerted by block
Aonblock Bis:

F=10N B

3 2'ke 3kg

777777 77777 77777777777
(1) zero 2) 4N
(3) 6N 4 10N

If x=35sin (m + %) m represents the motion of a

particle executing simple harmonic motion, the
amplitude and time period of motion, respectively,
are :

(1) Scm,2s
3) Sem,1s

2) S5m,2s
4 Sm,1s

The terminal voltage of the battery, whose emf is
10V and internal resistance 1Q, when connected
through an external resistance of 4 QO as shown
in the figure is :

4Q
e A A A
AN N\ 2
C 190
o |
AoV
(1) 4V (2 6V
3) 8V 4 10V
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% eel ZIEwHT § H B dere & STud

N
L ¥ 1 1, , s e (v

N

vafda et yge fopan T 3)
(1) 1:2 2) 2:1
3) 1:1 4) 1:4

TS AT ATy § attat T & (N + 1) @ @
A & T & N @l % A 6 IO 81 3iE &
I % U @ & A 0.1 frelt 21 a affr Freae
@) &

I 1
W Tov @ oo
(3) 100N @) 10@N+1)

yafdfa fasr & ua et AUX 10 N &fast 9@ smifua
fopa STTaT 81 e 4 T B % A %A 2 feu @
3 fopum ¥1 ek uh TuRfed d@ & SuX fawed ¥
T2 A B T B UX TN T 9 @

F=10N “i

2 kg 78
7777777777777 7777 777
() = (2) 4N
(3) 6N 4) 10N

afs x=55in(nt+§jm LA ST T B 5T Th

HUT I T BT TSI BT &, Tl BT STTATH qUT ST
BT HHIT: 7

(1) Sem,2s
3) Scem,1s

2) Sm,2s
4 Sm,1s

1 Q e gy qor 10V fa.qr. 9o & 28 &1

R e @1 ¢ 9 39 9o gER 4 Q % S
iy & SST T

A4QA

/N A4
."l'l"'ifz".
v,

(1) 4V 2) 6V

(3) 8V @ 10V
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I < Hoe fiw e 2

Fo 1 : T IYT TN B & HJifh 3T g
YT § €T qT O SISl &l ¢ |

Fu 11 : Y% O b UTHIY T BId & qAT 37U
arfaTeftTs Wagd Satid B ¢ |

IUFT HYAl & SMER X, - fou 1 famedi § 9
R hr T g

(1) a3 %aa 11 31 T2 B

(2) @19 AT 1 A1 Tad & |

(3) &9 1| & 9ig A I Tad 3

(4) ®uF 1 7Tad & uig Ba 11 9 31

i qord STHIT H YIS BT AT ¢ &, BIEH & g
Frrfafad & w8t Bow &

A. BITHE & el E=hy 31

B. WM& AT ¢ B

C. I & T p=@ .
C

D. WRMA-3awM 99 ¥, I FA Sl 9 Fd FAT
wfera & ¥

E. WM X €HIHE STEST 2T § |

frrfaned fasel ¥ @2 sax g

(1) daT AaB

(2) ®a@ A,B,CaD

(3) ®a@w A, CaD

(4) ®a@ A,B,DTE

Al 1 o1 g 1 & frae it
T T 11

13 Given below are two statements :

Statement I : Atoms are electrically neutral as

they contain equal number of positive and

negative charges.

Statement II : Atoms of each element are stable

and emit their characteristic spectrum.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are
correct.

(2) Both Statement I and Statement II are
incorrect.

(3) Statement I is correct but Statement II is
incorrect.

(4) Statement I is incorrect but Statement II is
correct.

14  Ifcisthe velocity of light in free space, the correct
statements about photon among the following
are :

A. The energy of a photon is E=hv.
B. The velocity of a photon is ¢.
C. The momentum of a photon, p = w
D. In a photon-electron collision, both total
energy and total momentum are conserved.
E. Photon possesses positive charge.
Choose the correct answer from the options given
below :
(1) A andBonly
(2) A,B,Cand D only
(3) A,CandD only
(4) A,B,DandE only
15 Match List I with List II.
List I List IT
(Spectral Lines of (Wavelengths (nm))
Hydrogen for
transitions from)
A. m=3ton =2 I. 4102
B. my=4ton =2 1. 434.1
C. m=5Stonm=2 [I. 656.3
D. ny=6ton =2 IV. 486.1

Choose the correct answer from the options given

below :

(1) A-IL B-I, C-1V, D-III
(2) AL B-1V, C-II, D-I
(3) A-1V, B-IL, C-I, D-II
(4) A-L B-II, C-III, D-IV
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(Frreferfea =i %
TN % foIg FTEge
1 Frerr )

A m=3dn=

B. n2:413{n1=
C. 1’12:5'&}’1]:2
D. n2:613ln1:2

(@@teed (nm))

I. 4102
II. 434.1
II. 656.3
IV. 486.1

e far T el @ Y o g
(1) A-I, B-I, C-1V, D-III
(2) A-IIL, B-1V, C-I1, D-1
(3) A-1V, B-III, C-I, D-II
4) A-1, B-II, C-III, D-IV
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A tightly wound 100 turns coil of radius
10 cm carries a current of 7 A. The magnitude of
the magnetic field at the centre of the coil is (Take

permeability of free space as 47 x 10~ Sl units):
(1) 44mT (2) 44T

(3) 44mT (4) 44T

The output (Y) of the given logic gate is similar
to the output of an/a :

A—]

B

(1) NAND gate (2) NOR gate
(3) OR gate (4) AND gate

A wire of length ‘/> and resistance 100 Q is
divided into 10 equal parts. The first 5 parts are
connected in series while the next 5 parts are
connected in parallel. The two combinations are
again connected in series. The resistance of this
final combination is:

(1) 260 Q) 520
(3) 55Q 4) 60Q

+ — —
Wy_2,y- ¢ sz P sp ¢ 590

In the nuclear emission stated above, the mass
number and atomic number of the product QO
respectively, are :

(1) 280, 81 (2) 286,80

(3) 288,82 (4) 286, 81

The maximum elongation of a steel wire of 1 m
length if the elastic limit of steel and its Young’s
modulus, respectively, are 8 x 108 N m2 and
2x 10 Nm=2, is :
(I) 4mm

(3) 40 mm

2) 0.4mm
(4) 8mm

If the monochromatic source in Young’s double

slit experiment is replaced by white light, then

(1) interference pattern will disappear.

(2) there will be a central dark fringe surrounded
by a few coloured fringes.

(3) there will be a central bright white fringe
surrounded by a few coloured fringes.

(4) all bright fringes will be of equal width.

At any instant of time ¢, the displacement of any
particle is given by 27— 1 (SI unit) under the
influence of force of 5N. The value of
instantaneous power is (in SI unit):

(1) 10 2) 5

3) 7 4) 6
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10 2t 2 @l s fauer 100 BT Al T e
# yarfed €101 7 A ¥ 1 HSel & B U FEBIA &3 B

afvarr ¥ (R ¥, Frafa @ gramsfiear = 4nx 1077
SI A=) -

(1) 44mT
(3) 4.4mT

& T @it aftay @ ffa (1) fraes frta &
I &

(2) 44T
(4) 44T

A—]

‘ Y
B
(1) NAND e (2) NOR e
(3) ORTE (4) AND 2

I g qur 100 Q WiAE % T ar @l 10 3
it o faafora femam a ¥ 1w S e @ St ®
TAT BT S 9T Bl G BT § SISl T4 1 L
TR T YA SoThH § ST 71 &1 39 Stfvad T
BT WY &

(1) 260 Q) 520
(3) 550 4) 60Q

+ g —_
Wy_2yy- ¢ 7 P sp ¢ 50

U BT I o fT SATE O B FHHH &l
g YTV HHID HAL: B
(1) 280,81
(3) 288,82

1 =Y TS % T b AT Dbl TN B TRl ST qeT
TEHT TATRIAT T HAM: 8§ x 108 N m=2 qan
2 x 101 N m2% ot 39 X & @18 & ghg &

(1) 4mm (2) 0.4mm

(3) 40 mm (4) 8mm

afe g7 T B8 wam § uhavil & @ 939d Wit §
gfafda @< fean man &

(1) =afqesT UTEd Sged Brm|

(2) P& T s & Rl s stdifa B st 2
(3) PB i fhat & Bkt e <t Bt fhst g1
(4) T it Besl 9 et &1 e

TR &7 1 9T SN 9@ & Tl fehaT or et feremos
2t — 1 (Sl o) feam 7an # | &fvres gtfer et 71 (S

(2) 286, 80
(4) 286,81

A ) B
(1) 10 2) 5
3 7 4 6
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Consider the following statements A and B and
identify the correct answer :

A. For a solar-cell, the I-V characteristics lies
in the IV quadrant of the given graph.

In a reverse biased pn junction diode, the
current measured in (xA4), is due to majority
charge carriers.

A is correct but B is incorrect.

A is incorrect but B is correct.

Both A and B are correct.

Both A and B are incorrect.

(1)
(2)
3)
“4)
Two bodies A and B of same mass undergo
completely inelastic one dimensional collision.
The body A moves with velocity v; while body B
is at rest before collision. The velocity of the
system after collision is v,. The ratio v{ : v, is :
(1) 1:2 2) 2:1

(3) 4:1 4 14

A light ray enters through a right angled prism at
point P with the angle of incidence 30° as shown
in figure. It travels through the prism parallel to
its base BC and emerges along the face AC. The
refractive index of the prism is:

(M

3)

4

1
The graph which shows the variation of (?j

and its kinetic energy, £ is (where ] is de Broglie
wavelength of a free particle) :

N

1 1
) = 2) 22
T T

| E o E
1 ~ 1
3) 32z 4) 22
T
0 E 1;) E
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Prefefiad o A 9 B %1 vt a8 5 g

A.  EeX 3 % T -V eifvenatire @ 72 o &
oY Tguie 7 B §

B. 3o STHAd pn SibeH SIS § O SgEE®

ST aATER % BT () o J19r Sl 7 |

A9 % 1d B e B

A TTd & wd B ®@E R

(3) I AaBEHE]

(4) = A9 B Teq ¥

A FHH & & [Uvs A 9 B Ui Sieiy Uh

fenfta wag &ed €1 @9g 9 @@ v A 9 v, | Tifa

HAT & Safe fvs B fawm & §1 €9z & usan fem

B AT v, 81 ST v, v, &

M
()

(H 1:2 (2) 2:1
(3) 4:1 4) 1:4
T o191 fpTer gHaiie frew % fag P 9 30° %

ST BT T AT il & o fop Fasr & gomiar man &
g fioq % ana BC & g9 gwdl AC 9dE &
STfEST AR B € | B a1 Sruadi o

3)

)

1
ﬁﬁﬁﬁﬁ?ﬂ%[?}ﬂ%ﬁﬁﬁﬁﬁf(@

% UfE Bl q9Tia & (Bl 4 Teb T 91 I S il
TR ?) ¢

N

1 1
Oy (2) 32 \
0 T .

0 E o

”~ L

3) 2 4 a2
To E To E
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The quantities which have the same dimensions
as those of solid angle are :

(1) strain and angle

(2) stress and angle

(3) strain and arc

(4) angular speed and stress

An unpolarised light beam strikes a glass surface

at Brewster’s angle. Then

(1) thereflected light will be partially polarised.

(2) the refracted light will be completely
polarised.

(3) both the reflected and refracted light will be
completely polarised.

(4) the reflected light will be completely
polarised but the refracted light will be
partially polarised.

The moment of inertia of a thin rod about an axis
passing through its mid point and perpendicular
to the rod is 2400 g cm2. The length of the 400 g
rod is nearly :

(I) 8.5cm (2) 17.5cm

(3) 20.7cm 4) 72.0cm

A thin flat circular disc of radius 4.5 cm is placed
gently over the surface of water. If surface tension
of water is 0.07 Nm~!, then the excess force
required to take it away from the surface is :

(1) 19.8 mN (2) 198N

(3) 1.98mN 4) 9N

A thermodynamic system is taken through the
cycle abcda. The work done by the gas along the
path bc is :

P A

300 kPaf - - - E—< ¢
100 kPaf - - - t7—> 1b
100cm? 4000
r—
(1) zero ) 30J
(3) —90.J 4) —60.J
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75 Tt R R T o % e
(1) fegpfer e ron
(2) wfqas qur @i

(3) ferpfer e =g
(4) ®vE A qur widad

Teh YT Th191 Yol fehell bidl el Tefe U SR bIol

TR THA & | T

(1) uRrafdd yeter a1t ggfaa g

(2) owafad weer gia: gfaa srmi

(3) < yEfdd @ sruafad yereT guia: giad grmi

(4) UEfdd gebieT quia: gfad utg staafid g
aTifres gfera 2

e Iadl BS H1 360% AL (95 9 oI i BS &
TRIAq 3eT o ufa: wee Smgef 2400 g cm? ¥1400 g
B B B TS ATHT 5

() 8.5cm 2) 17.5cm

(3) 20.7cm 4) 72.0cm

4.5 I a1 &l U% STie A Jateik aadl Bl
THT Bl T X 9N E @ faan T 2 1 At ae b s
T 0.07 Nm~! 21 3 38! 9l &l ade § o1 &

% fou emayae snfue 9w &
(1) 19.8mN (2) 198N
(3) 1.98mN (4) 99N

Teh HWATTID b & Thid Y abcda T & ST
ST 2 1 be 99 & STt 19 g &d B &

%’/\
300kPa} --- &< ¢
100 kPaf - - - t7—> 1b
100em  400cmd”
r—
(1) = 2) 30J
(3) —90J 4) —60J
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A wheel of a bullock cart is rolling on a level
road as shown in the figure below. If its linear
speed is v in the direction shown, which one of
the following options is correct (P and Q are any
highest and lowest points on the wheel,
respectively)?

P

\l<

o

(1) Point P moves slower than point Q.

(2) Point P moves faster than point Q.

(3) Both the points P and O move with equal
speed.

(4) Point P has zero speed.

The mass of a planet is % ththat of the earth and

its diameter is half that of the earth. The
acceleration due to gravity on that planet is :

(1) 19.6ms2 (2) 9.8ms2

(3) 49ms2 (4) 3.92ms>2

In the following circuit, the equivalent capacitance
between terminal 4 and terminal B is :

2uF 2uF
1 _|_ 1]
Ao— 2uF —o B
1} 1 I}
2uF 2uF
(1) 2pF () 1pF
(3) 0.5uF (4) 4pr

A thin spherical shell is charged by some source.
The potential difference between the two points
C and P (in V) shown in the figure is:

(Take =9x10° SI units)

TEEO

(1) 3x10° @) 1x 10
(3) 0.5x10° (4) zero
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e JETS! Bl Ufedl fos AR s a9ad d5% UX
o (@ & | Afs feams 13 feen o e W@ 9 v el
ar fr=fefaa o & & a1 faee @& &: (T W P 8l
O AT B3 ITaad Td JAaH g 2 1)

(1) fg P fag OF & wifd sxar 21

(2) &g P, fag O & I 7 & & |

(3) 3 feg P QauH I | TIfd Hd B |
(4) fog P o S B

Teh U8 I FHHM Y& % FHHM Bl %?ﬁﬁm%am

THE! ATE YA % ATE &l 39T ¢ | 39 T8 U [
T E:

(1) 19.6ms2
(3) 49ms>2

(2) 9.8ms>2
(4) 3.92ms32

frefefaa aftay & <ffva 4 9 <ffw B % < gw
e &

2uF 2uF
L
2151? ZIELF
() 2pr (2) 1pF
(3) 0.5uF (4) 4uF

Teh Uqell AT HI9T fhal | &1 Sty fepar
¢ | yafiia fas & orgar &1 faget C 9 P o dra fawarx
(e #) &

(Rt —— = 9x10° SIwres )

4z S

(1) 3x10° 2) 1x10°
(3) 0.5x 10 (4) =
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Physics : Section-B (Q. No. 36 to 50) |

36

37

38

39

3)

The velocity (v) — time (¢) plot of the motion of a
body is shown below :

o—>v(ms™)

t(s) —
The acceleration (a) —time (¢) graph that best suits
this motion is :

t(s)—

0 “4)

t(s)->

0 t(s)~>

4

If the mass of the bob in a simple pendulum is
increased to thrice its original mass and its length
is made half its original length, then the new time

X
period of oscillation is 5

period. Then the value of x is:
() 3 2) 2
3) 243 ) 4

A 10 puF capacitor is connectedtoa 210 V, 50 Hz
source as shown in figure. The peak current in

times its original time

the circuit is nearly (n = 3.14) :

HE—

+

C=10pF

210 ¥, 50 Hz
(1) 0584 (2) 0934
(3) 1204 (4) 0354

The following graph represents the T-V curves of
an ideal gas (where T is the temperature and V'
the volume) at three pressures P, P, and P
compared with those of Charles’s law represented
as dotted lines.

Pl

V—
Then the correct relation is:
) B>KB>K (2 A>B>PH
G) B>R>P () R>P>R
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@)

3

TG B M BN AT (v) —TF (£) T A yafdfa &

o—>v(ms™) Q

t(s) —
% fou geq sfad @ (a) — 999 (1) T &

2

N

>a(ms?)
>ams?)

o= @ TR

>a@ms?)
>a(ms?)

(=)

Q)

0 t(s)—>

TS T AT A | TMAD BT FSHT 3T o FH
% U T O 6T I ST & 7 9a! TS et
el BT A T, AV (@ BT AT Dbl T EHD

t(s)~>

ngwéw%laﬁquﬁ%:

() 3 2 2
3) 243 4) 4

T 10 pF & g &l fost siga w210 'V, 50 Hz
i ST T & | ey § € ol e 9 @

(m=3.14):

HIE—

+
C=10 pF

210 7,50 Hz

(1) 0.584 (2) 0934
3) 1204 (4) 0354

frrafofad % & we omast 7 & d @&t Py, Py @
PR T-V 9 YaId &l & (STt T areT, V 3mes)
fraent @ Frrem &t fa=g T ara gan &l 78 31

i

V—
9 GE G 2
(I B>PKH>A
3) A>A>H

@ R>P>h
4) RB>P>P
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An iron bar of length L has magnetic moment M.
It is bent at the middle of its length such that the
two arms make an angle 60° with each other. The
magnetic moment of this new magnet is:

() M @ 5
M
G) 2M @ 5

The minimum energy required to launch a satellite
of mass m from the surface of earth of mass M
and radius R in a circular orbit at an altitude of
2R from the surface of the earth is:

5GmM 2GmM
() T¢r 2 3%

GmM GmM
(€)™ @4 3%

A parallel plate capacitor is charged by connecting
it to a battery through a resistor. If I is the current
in the circuit, then in the gap between the plates :
(1) there is no current.

(2) displacement current of magnitude equal to
I flows in the same direction as I.
displacement current of magnitude equal to
I flows in a direction opposite to that of I.
displacement current of magnitude greater
than I flows but can be in any direction.

)
4

The property which is not of an electromagnetic

wave travelling in free space is that :

(1) they are transverse in nature.

(2) the energy density in electric field is equal
to energy density in magnetic field.

1

(3) they travel with a speed equal to m .

(4) they originate from charges moving with
uniform speed.

A metallic bar of Young’s modulus, 0.5 x 101N
m~2 and coefficient of linear thermal expansion
105°C-!, length 1m and area of
cross-section 1073 m? is heated from 0°C to 100°C
without expansion or bending. The compressive
force developed in it is:

(1) 5x103N (2) 50x 103N

(3) 100x103N  (4) 2x103N
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L @TE &l U IE B G & g o M 31
e TS % 9L | 39 b ST 741 § b a1 eI
T AL b A1 60° BT BT T & | 59 T3 Fradh Bl

B T 3

1 M )

M
2
M

() 2M @ 5

M z=q9= qan R Bran &1 gedi & ad § 2R $aE W
R U& AR Ba1 § m 5 5 fBH IWE B
gl 9@ ¥ AT H & g gaaw stasaes St 5

5GmM 2GmM
M “er 2 3%

GmM GmM
(€) I @ 3

eh GHTAY WIS HES bl Teb Wae E1 U 920 9
Srewt emafya fman man ¥ afy afwa ¥ sl ar
Tl % 99 A W —

(1) @i5 °r & 8|

(2) 1 afeETer s ga fareamds o [ ol a9 feem o
EESIE]

[ @t fauadra faem & 1 & SOe afTTr sl faem=
T yaTted &l § 1

forgir ot o o utg 1 6 a1fes wfemmor &t feerma=
€ yaTted Bl & |

TR SIS H wad fegd graeh Tt § I |1 e

el B -

(1) 3 gy ygra &l 2|

(2) A & § Full T, B &F A Holl g
% SUET BT 2 |

3)
4

1
3) ém % TS AT G T BT & |

(4) 9 THEHEN AT F T S FT S~
B 2

0.5 x 10" N m~2 a7 geameerdt uries qerm 10> °C~!
T HOI TER e b 1 H @ g 1073 m2 sy
ufies &% Bl T eifadh B & 0°C ¥ 100°C a6
fem fareame an = & T foma o1 & | 3O S Edifsa
q &

(1) 5x103N
(3) 100 x 103N

(2) 50x 103N
(4) 2x103N
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Choose the correct circuit which can achieve the
bridge balance.
b,

Q)

3)

A sheet is placed on a horizontal surface in front
of a strong magnetic pole. A force is needed to :

A. hold the sheet there if it is magnetic.

B. hold the sheet there if it is non-magnetic.

C. move the sheet away from the pole with
uniform velocity if it is conducting.

D. move the sheet away from the pole with

uniform velocity if it is both, non-conducting
and non-polar.
Choose the correct statement(s) from the options
given below:
(1) BandDonly (2) AandConly
(3) A,CandDonly (4) Conly

Ifthe plates of a parallel plate capacitor connected
to a battery are moved close to each other, then
A. the charge stored in it, increases.
B. the energy stored in it, decreases.
C. its capacitance increases.
D. the ratio of charge to its potential remains

the same.
E. the product of charge and voltage increases.
Choose the most appropriate answer from the
options given below:
(1) A,Band Eonly (2) A, CandE only
(3) B,DandEonly (4) A,BandC only
Two heaters A and B have power rating of 1 kW
and 2 kW, respectively. Those two are first
connected in series and then in parallel to a fixed
power source. The ratio of power outputs for these
two cases is:

2) 2:9

(1 1:1
3) 1:2 4) 2:3

A small telescope has an objective of focal length
140 cm and an eye piece of focal length 5.0 cm.
The magnifying power of telescope for viewing
a distant object is:

(1) 34 2) 28

3) 17 4) 32

A force defined by F = at’ + Bt actson a particle
at a given time 7. The factor which is
dimensionless, if o and  are constants, is:

a P/ g

(3) apr @ b/
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g ufiqy gHT ST 5t o1 g uTd &Y 9o

)

A. uﬁ%g@m%%ﬁm@rwwﬁ%ﬁm

B. uf ¥% oTgmh & Al A6 &I T8l W@ & g

C. 3fcae e © a1 T1eT Bl Y § T THAHH 9T
BEERERT

D. df< g8 Fames Ud AYfad & a1 ae bl ga d W
THEA 9T & o S & Y

T e faeedl @ €21 %9 g

(1) sa@BaD (2) ®a@ATC

(3) FaTA,CaD (4) FawC

s U T | T3 THI < AT DI W Th §AL
%1 3% 7T el 8, aa:

A. o dfad ST Sear ¥

B. zo# dfad ot gedl &

C. 3! enfar sedl &

D. 3H% ST TAT A BT I T ol 8
E. 3AeT qo1 dieesl &1 Yo% 96l &

T & T Tt § ged Sfad SO gw:

(1) ®a@ A,BI9E (2) ®a@ A,CaE

3) ®a@B,DIE (4) Ha@A,BaC

T ERTA T B! giferd sx e 1| kW a2 kW 1d
Tl Tew Il A H qoT AT T % § Uh RUT
STeRT B & SIS T & 137 a1 Rexferdl # et arferat
AR RRIGES

(1 1:1 ) 2:9

(3) 1:2 4) 2:3

Teh Ge&H TGSl o TG Y o1 F i Bichd gt 140 FH
AT AH DI BiHd U 5.0 T $1 X Rerd agg &l

<@ o g gRaslt ol sTae & &
(1) 34 2) 28
3) 17 4) 32

F = ot + Bt &1 afeiie Ue s R T 994 1 1)
e U1 UT ST Bl & 191 o qom B F+araies &

YT arges e g ?
a P/ @ “%

(3) oft

@
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Chemistry : Section-A (Q. No. 51 to 85) |

51

52

53

54

(Compound)
A. NH; L.
B. BrF;
C. XeF,
D. SFq

‘Spin only’ magnetic moment is same for which
of the following ions?
A, Tt

C. Mn?*

E. Sc3*

Choose the most appropriate answer from the
options given below:

(1) BandDonly (2) A andE only

(3) BandConly (4) A andD only

The most stable carbocation among the following
is:
CH,4

CH,
CH;

@ |
C CH
2) CHS/ H\CHZ/ |

CH,
(3) E>7 8H2

CH,

)

Given below are two statements:

Statement I : The boiling point of hydrides of
Group 16 elements follow the order

H,O > H,Te > H,Se > H,S.

Statement II : On the basis of molecular mass,
H, O is expected to have lower boiling point than
the other members of the group but due to the
presence of extensive H-bonding in H,O, it has
higher boiling point.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement II are false.
(3) Statement I is true but Statement II is false.
(4) Statement I is false but Statement Il is true.

Match List I with List II.
List I

TR
2 ®

List IT
(Shape/geometry)
Trigonal Pyramidal
II. Square Planar
II. Octahedral
IV. Square Pyramidal
Choose the correct answer from the options given
below:

(1) A-L B-1V, C-II, D-III
(2) A-IL, B-1V, C-II, D-1
(3) A-IL B-1V, C-I, D-II
(4) A-IL B-III, C-1V, D-1

Q6_Hindi+English ]

13

51

52

53

54

T 1 (dfirs)

o0 wp

frrteiad ® @ o el & fQ “aershot 7 gab

B. Cr?*
) D. FeZ'
E.
e few U fqeedl | 99 w8 I g
() Ba@ B3 D (2) %ad ASRE
(3) da@BRC  (4) Had A3k D

fFrrfafad & & @9 o1 Wl HeeaET &
CH;

CH,

@ | -
C CH
2) CH3/ H\CHZ/ i

CH,
D
3) CH2

CH;

)

ra 31 e g T R

F 1 : T8 16 T@l & TIEI1ES| & FaUHieh Ffanad
% BT UTe HId &

H,0 > H,Te > H,Se > H,S.

& 11 : Sfvers 5™ & SEr aX H,O @1 STgATa
FIIAH T8 & I GI@l & %9 Bl & uig Hy0 &
feega H-areem ot SuRUfd & Hvl, S8l STl
FILH Bid |

Y fau T Ul & e ux, i faw o foemedt 9
& ITX g4

(1) %991 3T a1 S+ & &1

(2) %991 3K U 11 31 Ted & |

(3) ¥ 1| & uig HYA 1 Tad 2 |

(4) ¥ 17Ad & Wi A 1 9 1

Tl Lt ga 1 & are frems st

T I (smgfe/
TfHfer)

NH,4 I T fE
BrFs I o goaer
XeF, II. Seheb

. SFg IV. =i Rfe
I faw o fasedt & v sax g

(1) A-L B-1V, C-II, D-III

(2) A-IL B-1V, C-lII, D-I

(3) A-IIL B-1V, C-I, D-II

(4) A-IL, B-IIL, C-1V, D-I
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S 0w >

The highest number of helium atoms is in
(1) 4 mol of helium

(2) 4 uof helium

(3) 4 gofhelium

(4) 2.271098 L of helium at STP

Identify the correct reagents that would bring
about the following transformation.

O—CHZ—CH:CH2—>

CH,— CH, — CHO
H,O/H"

CrO4

BH;4

M G
(i)
2 O
(i)
(iii)
()
(ii)
(iii)
(iv)

/ o
H202 OH
PCC

3) BH;

/ o
P1202 OH
alk. KMnO,
H,0°
(1) HZO/H+
(ii)) PCC
Match List I with List II.
List I
(Process)

Isothermal I.
process
Isochoric
process

Isobaric
process

4

List IT
(Conditions)
No heat exchange
II. Carried out at
constant temperature
Carried out at
constant volume
Adiabatic Carried out at
process constant pressure
Choose the correct answer from the options given
below:
(1) A-1V, B-III, C-1I, D-1
(2) A-1V, B-II, C-III, D-1
(3) A-L B-II, C-lII, D-IV
(4) A-IL B-III, C-1V, D-1

Which one of the following alcohols reacts
instantaneously with Lucas reagent?

(1) CH,-CH,—-CH,-CH,OH
(2) CH,-CH,- ]CH —-OH
CH,
(3) CH,- $H —CH,OH
CH

III.

Iv.

3
L

4) CH3 - (lj -OH
CH,
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ow >

SIfeTad TTHTSH @l Sifehad de ¢

(1) dfaa s 47w

(2) SfmE®4ud

(3) dfmm B4 gH

(4) wa A T afead & 2.271098 L&

e ATHHHD! Bl TEETT S FrfaRad ®giaeer

B Bl |

<:>—CH2—CH:CH2—>
<:>—CH2—CH2—CHO

H,O/H"
CrO5
BH,4

(1 (@
(i1)

2) @

(i) H,0, / SH

(iii) dr.drEr

(i) BH,4

(ii)

(iii)

3)
H,0, / OH
arig KMnO,
(iv) H,0®

(i) H,OH*
(i) drdrEn

Tl [t g 1 o e e it
T 1 () T 1L (Raf)
AU TehH . o&ig oo fafma T2
guEas g 1L R amw 9x &Y S ®)
U WehH 1. ReR emgas ux &l
ST B

. GG WhH IV. R @ U & 9l 31
ra fau T fqsedt & wE 39X T
(1) A-1V, B-III, C-I1, D-I
(2) A-1V, B-II, C-III, D-I
(3) A-L B-II, C-III, D-IV
(4) A, B-III, C-1V, D-1
frrfafad Ywpleral & 9 BF-—a1 ®gbd sIfiads &
1Yy qreerfvren sttafehar & ?
(1) CH,-CH,-CH,-CH,OH
(2) CH,-CH,- |CH —-OH

CH

4

3

C|H - CH20H
CH;

(3) CH,-

CH;
|

4) CH, - ? -OH
CH;,
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59  In which of the following equilibria, K and K
are NOT equal?
(1) PClsg) = PClyg) * Clyg)
@) Hyg +lag = 2Hlg
() €O+ HyOpy) = COyg) T Hygq
(4) 2BrCly) = Bryg + Cly,
60  Match List I with List II.
List I List IT
Quantum Number Information provided
A m I.  shape of orbital
B. m, II. size of orbital
C. 1 III. orientation of
orbital
D. n IV. orientation of spin
of electron

61

62

63

Choose the correct answer from the options given
below:

(1) A-L B-1II, C-1I, D-IV

(2) A-II, B-1V, C-1, D-II

(3) A-IL, B-1V, C-1I, D-1

(4) A-IL B-L, C-1V, D-III

Given below are two statements:

Statement I : Aniline does not undergo Friedel-

Crafts alkylation reaction.

Statement II : Aniline cannot be prepared through

Gabriel synthesis.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Both Statement I and Statement II are true.

(2) Both Statement I and Statement Il are false.

(3) Statement I is correct but Statement II is
false.

(4) Statement I is incorrect but Statement II is

true.

Intramolecular hydrogen bonding is present in

NO,
o L
@ @

NO,
Nej

HO
(4) HF

On heating, some solid substances change from
solid to vapour state without passing through
liquid state. The technique used for the
purification of such solid substances based on the
above principle is known as

(1) Crystallization (2) Sublimation

(3) Distillation (4) Chromatography
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%.

COow>g

et amei & fepadl K, ot K @ 7 ¥ 7
(2) Hyg) Iy = 2 Hl,

() €O + HyOp) = COx) * Hygg)

(4) 2BICliy = Bryg, + Cly,

T o1 gl 1 o @ frams difeg:
T I
) (Suetesr AFTRY)

m; . e &l B

m II. e &I MBI

/ III. et a1 sTtufa=ama

n IV. Sc@2ie & ahvl &l
arfyfa=are

e few o fasedt | w8 ST g

(1) A-L B-IIL C-II, D-IV

(2) A-IIL B-1V, C-1, D-II

(3) A-IIL B-1V, C-I1, D-1

4) A-I, B-1, C-1V, D-III

a1 e few o R

F 1 : T WISa—shIeed Ufehald ol SitHfhar
T B B

FA 11 : TN &l sl S9uT g1 STEl S o
ol |

IUT T3 T HUAl % SR WX, A U T fowedt @
/& IR AT

(1) %991 3K a1l S T &1

(2) %991 3T U 11 31 Terd £ |

(3) & 1| & uig A 1 Tad 3

(4) &9 17ad & uig ®u 11 9 3

3IcT: 3T TIES o SNeY fopd & Sufteard gar & ?

NO,
o L
@ O

NO,
®) @f

HO
(4) HF

T HT UX, PV I qard ¥ 4 g9 srawen 9 e
T AT Sraen ¥ ufkafad 81 97 & | %X fau fagid &
YT 9% UH 314 a1l % SNe & faq yged damie
HEA! &

(1) foreead
3) omga

3%

(2) SeuTaH
(4) aviciRae!
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In which of the following processes entropy
increases?
A. Aliquid evaporates to vapour.
B. Temperature of a crystalline solid lowered
from 130 K to 0 K.
C. 2 NaHCO3(—>Na,COs3 + COy + HyOp
D. Clz(g)—>2 Cl(g)
Choose the correct answer from the options given
below:
(1) AandC (2) A,BandD
3) A,CandD (4) CandD
Among Group 16 elements, which one does NOT
show —2 oxidation state?
(1) O (2) Se
(3) Te (4) Po
Match List [ with List II.
List I List IT
(Conversion) (Number of
Faraday required)
A. 1 mol of H,O to O, I. 3F
B. 1 mol of MnO, to II. 2F
Mn2t
C. 1.5 mol of Ca from . 1F
molten CaCl,
D. 1molof FeOto Fe,0O5 IV. 5F
Choose the correct answer from the options given
below:
(1) A-II, B-1V, C-I, D-III
(2) A-III, B-1V, C-1, D-1I
(3) A-II, B-IIL, C-1, D-IV
(4) A-III, B-1V, C-11, D-I
Arrange the following elements in increasing
order of electronegativity:
N, O, F, C, Si
Choose the correct answer from the options given
below:
(1) Si<C<N<O<F
(2) Si<C<O<N<F
(3) O<F<N<C<Si
(4) F<O<N<C<Si
A compound with a molecular formula of CgHy 4

has two tertiary carbons. Its [IUPAC name is:
(1) n-hexane

(2) 2-methylpentane

(3) 2.,3-dimethylbutane

(4) 2.,2-dimethylbutane
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w1

(wieren)

A
B.
C

D

Frrefafaa & & o wepal & Tt sl 8 7

A. TH g9 arsq ¥ i Brar 2

B. Ttk hedmo@aram 130 K& 0 K d& gear & |
C. 2 NaHCO3(,—>Na,COy) + COyq + HyO(y
D. Clyg—>2 Cly,

ra fau 1o fysedt & @& ITX T

(1) AsiRC (2) A,BaRD

(3) A,CsikD (4) CamD

T 16 T@ § | BHI—a1 —2 SATRIH0T e T
goTiar & ?
1 O
(3) Te

(2) Se
4) Po

T [ o1 gl 1 o are fram difeg:

Tl
(mavTF we
=\ T@mn)
H,0% | 5@ & O, # I. 3F
Mno;%slrha%sMn%ﬁ‘ II. 2F

Tia CaCly, & Caw 1.5 9@

. 19 FeO & Fe,O; #

S U T febedl & T& ST giT:
(1) A-IL B-1V, C-I, D-III

(2) A-IIL B-1V, C-I, D-II

(3) A-IL B-IL C-1, D-IV

(4) A-IL B-1V, C-11, D-1

L. 1F
IV. 5F

frrafaRaa qa ®i el Feomeenan & sed 9 A aied
eIy

N, O, F, C, Si

I faw o fasedt & v sax g

(1) Si<C<N<O<F

(2) Si<C<O<N<F

(3) O<F<N<C<Si

(4) F<O<N<C<Si

3T G CH 4 AT T AifiTes & 2 it e Surerd
T 138 g qLu . A

(1) nZas

(2) 2-afymu=es

(3) 2.3-swEAfege

(4) 2,2-=rgAiyeege
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Fehling’s solution ‘A’ is
(1) aqueous copper sulphate
(2) alkaline copper sulphate
(3) alkaline solution of sodium potassium
tartrate (Rochelle’s salt)
(4) aqueous sodium citrate
Activation energy of any chemical reaction can
be calculated if one knows the value of
(1) rate constant at standard temperature.
(2) probability of collision.
(3) orientation of reactant molecules during
collision.
(4) rate constant at two different temperatures.
Which plot of In k vs % is consistent with
Arrhenius equation?
) ) /
4 =4
=) [=
(1 ] @ —
] 1
T T
A AN
- —~
£ =
3 = @ =
I 1
T e T -
Match List I with List II.
List I (Reaction) List IT (Reagents/
Condition)
(0]
A (X -2 Fo I (:Hka/
Anhyd.AICl4
O
B. ()—»(j)H(j 1. Cro,
OH (0]
c O - 1. KMnO,/
KOH, A
CH,CH,
p. & 7 7> IV. (i) O,
COOK ..
©/ (i1) Zn-H,O

Choose the correct answer from the options given
below:

(1) A-1V, B-I, C-III, D-II

(2) A-IIL B-I, C-II, D-IV

(3) A-1V, B-IL, C-II, D-1I

4) A-IL, B-1V, C-II, D-III
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e faea A B e

(1) <TE BaT Tehe

(2) @Y BIUT ke

(3) wifsaw urfimy <riie (S @awr) &1 arig
ICGER

(4) < gifsaw fage

Tt oft ramatve arfufean &1 afpaur St ufiafaa
@ ST Teball & IfS FfaRad 1 |/ ST &l

(1) 9% a9 9T o Retis

(2) HEA Bl UTRIhar

(3) UL % QA BT T[T BT tfafa=rd
(4) < =1 amat T o Rk

Frefefad & & & @ In k o T % da o
S+ FHI T 6 ST & ?

;

-

| Ink—
| Ink—

M

L
T

N

—

L
T

_L C))

_)

Ink—
| Ink—

3)

1 L
T T

Tl Lt g 1 o e e it
Tl
(rfrfepan)

T 11
(erfyrereier/feafa)

(0]
A OO Or0 LY

fste AICL,
O
-0 co,
OH (0)
O - 1. KMnO,/
KOH, A
CH,CH,
<r IV. (i) Oy
COOK y
©/ (i1) Zn-H,O

4 faw T Rt & T S 9T
(1) A-IV, B-I, C-III, D-1I
(2) A-IIIL, B, C-II, D-IV
(3) A-1V, B-L, C-II, D-III
(4) A-L B-IV, C-II, D-III
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The compound that will undergo SNl reaction

with the fastest rate is
CH

J

Br ’
o 0w ©)\Br

Which reaction is NOT a redox reaction?
(1) Zn+CuSO, = ZnSO,4 + Cu

(2) 2KClO5+1, = 2KIO; +Cl,

(3) H,+Cl, > 2HCI

(4) BaCl, +Na,SO, — BaSO, +2 NaCl

Given below are two statements:

Statement I : The boiling point of three isomeric

pentanes follows the order

n-pentane > isopentane > neopentane

Statement II : When branching increases, the

molecule attains a shape of sphere. This results

in smaller surface area for contact, due to which

the intermolecular forces between the spherical

molecules are weak, thereby lowering the boiling

point.

In the light of the above statements, choose the

most appropriate answer from the options given

below:

(1) Both StatementIand Statement Il are correct.

(2) Both Statement I and Statement II are
incorrect.

(3) Statement I is correct but Statement II is
incorrect.

(4) Statement I is incorrect but Statement II is

correct.

Given below are two statements :

Statement I : Both [Co(NH3 )6 T+ and [COF() Tﬁ

complexes are octahedral but differ in their
magnetic behaviour.

3+
Statement II : |:CO(NH3 )6} is diamagnetic

3- . .
whereas [COFJ 1S paramagnetic.

In the light of the above statements, choose the
correct answer from the options given below:

(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement II are false.
(3) Statement I is true but Statement Il is false.
(4) Statement I is false but Statement Il is true.
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Iz difres ST g A A F Sy ! erfufrar wam, ¥

(1) <:>/\Br () O—Br

CH,
Br
o @ @Br

frefeiaa & @ @i=-d1 sttHichan Yete sifwinan
TR

(1) Zn+CuSO,4 = ZnSO, + Cu

(2) 2KCIO3+1, > 2KIO5; +Cl,

(3) H,+Cl, > 2 HCI

(4) BaCl, + Na,SO, — BaSO, + 2 NaCl

I < wue feg U R

FA 1 : A garagdl U=l & Fageie Hefanad 9
1 U B &

N-U=H > SEE= > e

o 11 : 59 9TE 951 &, A9 79] T T B SHT
W A ¥ 396 uRonmeaEy, dwst % e g dea
% &Y ST & FTEh IR0 AT STUaTT o dia STaRieTdh
A G 81 I & ST 3T BTV FALATD BH &l AT & |
Y foU T AT & MR UX, T fau o fawedt 9
aifeh SGeRt ST g

(1) %991 3R a1 S T 2|

(2) %991 3T U= 11 31 Terd 2 |

(3) ®u 1 |E ¥ uig A 11 Tad 7

(4) ®99 1 7Tad & g B9 11 9 B

g 31 e few T &

F 1 : A1 Gt [CO(NH3)6T+ i |:C0F6j|37
SEHADHI & Ui I7h JabId FIeR f9 31 ¥ |
w11 : |:C0(NH3)6:|3+ wfrgaaa & safs
[C0F6]3_aqgg’aaﬁa%l

IR feU T Ul & U IX, - fau T faemedt 9
T I G

(1) %971 3R a1 S 9 & |

(2) %991 3T U 11 31 Terd |

(3) ¥ 1| 5 Uiy HYA 1 Tad 2 |
(4) &9 1 7Tad & Uig BuF 11 9 B
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Match List I with List II.
List I
(Molecule)

List IT
(Number and types of
bond/s between two
carbon atoms)
A. ethane I. one o-bond and
two m-bonds
two m-bonds
one ¢ -bond

B. ethene 1.
C. carbon [11.
molecule, C,
D. ethyne IV. one ¢ -bond and
one n-bond
Choose the correct answer from the options given
below:
(1) A-L B-1V, C-II, D-III
(2) A-1V, B-I1, C-I1, D-I
(3) A-IIL, B-1V, C-II, D-I
(4) A-III, B-1V, C-1, D-1I

The Henry’s law constant (Ky;) values of three
gases (A, B, C) in water are 145, 2x 1075 and
35 kbar, respectively. The solubility of these gases
in water follow the order:

(1) B>A>C 2) B>C>A

(3) A>C>B 4) A>B>C

The energy of an electron in the ground state
(n= 1) for He* ion is —x J, then that for an electron
in n = 2 state for Be3" ion in J is :

(1) -x @ -5

3) —4x 4) —gx

The E° value for the Mn3*/Mn2" couple is more
positive than that of Cr3*/Cr2" or Fe3"/Fe?" due
to change of

(1) d> to d* configuration

(2) d° to d? configuration

(3) d*to d> configuration

(4) d3to d> configuration

The reagents with which glucose does not react
to give the corresponding tests/products are
A. Tollen’s reagent B. Schiff’s reagent

C. HCN D. NH,OH

E. NaHSO;

Choose the correct options from the given below:
(1) BandC (2) AandD

(3) BandE (4) EandD
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T o1 gl 1 o 4 fram difeg:
el A II (1 F1dT AL
(1) ¥ A N qE AR
W)
A. TwH . TH o-3EY 3
3l -3
. udN II. 3 p-3ey
C. &E a1 C, [l. U c-3mEe
D. TumEd IV. & o-3Tey &iX
Th -6y
T fau g faeedl @ W& SR g

(1) A-L, B-1V, C-II, D-III
(2) A-IV, B-III, C-II, D-I
(3) A-IIL, B-IV, C-II, D-I
(4) AL, B-IV, C-I, D-II

A Tt (A, B, C) & fog 781 fam Rerties (K ) w190
BT 145, 2x107> 3T 35 kbar ¥ 1 37 &} &1 57 &

facraand frfafad 6w 1 are S &
(1) B>A>C (2) B>C>A
(3) A>C>B 4) A>B>C

He' 3= &t q& eraren (n= 1) ¥ foelt saarze o
Toit —x J &, a9 Be3 " 3mae @i n = 2 st ¥ suftad

T % forw ) 8 sl B B
() -x @ -3
(3) —4x 4) —gx

Mn3*/Mn?* ga@ & faw E° #9 Cr3t/Cr2t an
Fe3"/Fe2" § frafefaa uftad= & wror iftres et
¥

(1) dd&d* fa=m

(2) d> 7 d? fa=mm

(3) d*ad’ fa=mm

4) d3ad’ fa=m

3 arfyeries RrTes e Toare eiffrar T war @
R G TevT/IdTE TE a1 B, &
A. o9 afyede B, e sifwede

C. HCN D. NH,OH
E.  NaHSOj;

e T Y Tl | /8 SOX g
() BaxC (2) A&RD
(3) B@RE (4) EsirD
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Match List I with List II.

List I (Complex) List II (Type of
isomerism)
_Co(NH3 )5 (NO2 )} Cl, I.  Solvate
isomerism
_CO(NH3)5 (504)} Br II. Linkage
isomerism
_Co(NH3 )6} [Cr(CN)J I1I. Tonization
isomerism
_Co (H20)6 } Cl3 IV. Coordination
isomerism

Choose the correct answer from the options given
below:

(1) A-IIL, B-III, C-1V, D-1

(2) A-I, B-1II, C-1V, D-II

(3) A-IL, B-1V, C-III, D-II

4) A-IL B-1V, C-1II, D-1

Arrange the following elements in increasing
order of first ionization enthalpy:

Li, Be, B, C, N

Choose the correct answer from the options given
below:

(1) Li<Be<B<C<N

(2) Li<B<Be<C<N

(3) Li<Be<C<B<N

(4) Li<Be<N<B<C

1 gram of sodium hydroxide was treated with
25 mL of 0.75 M HCl solution, the mass of sodium
hydroxide left unreacted is equal to
(1) 750 mg (2) 250 mg
(3) Zeromg 4) 200 mg

For the reaction 2A = B+C, Kc =4x107. Ata

given time, the composition of reaction mixture

is: [A]=[B]=[C]=2x10"*M.

Then, which of the following is correct?

(1) Reaction is at equilibrium.

(2) Reaction has a tendency to go in forward
direction.

(3) Reaction has a tendency to go in backward
direction.

(4) Reaction has gone to completion in forward

direction.
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82  wE @ gal Il &% wre fram aifva:
T 1 (§%F) T 11 (e
F1 IHR)
A. _Co(NH3)S(N02)JC12 I faemEdsE
FETEEEAT
B. :Co(NH3)5 (so 4)}Br I Sesy
REICPCRI|
C. :Co(NH3) J [cr(eN)] 1L s
FrEgad
D. _CO(Hzo)JCg IV. Sugssare™
FETEEEAT
T feu 1o fyseat & @& ITX T
(1) A-IL B-IIL, C-1V, D-I
(2) A-IL B-III, C-1V, D-II
(3) A-I, B-1V, C-III, D-II
4) A-I, B-1V, C-II1, D-I
83 fy=fvRad aal & vaq STeee Tl & 9ed ®H |
ARy BT
Li, Be, B, C, N
T feu 1o et & @& ITX T
() Li<Be<B<C<N
(2) Li<B<Be<C<N
(3) Li<Be<C<B<N
(4) Li<Be<N<B<C
84 wifsuw eEgiadEs & 1g & 0.75 M HCI fama= &
25 mL % 91 Iudied fohan T, 9w srertishRia
QIfSTT TEFIFAZS BT FIHN TS ST
(1) 750 mg (2) 250 mg
(3) Zeromg (4) 200 mg
85  aifufipar 24 = B+C & forg K =4x107 ¥ foredy

fqu U Ty ux, arfuferar frgor o duen
[A]=[B]=[C]=2x10"M.

a9, frfaiad § 9 eM-—-a1 98 & ?

(1) erfafspar ar=r ux &1

(2) srfufspa @ o faem & S &t ygta 31

(3) srtufepan @ gga foem # ST &1 ygfa 2|
(4) afufsman s faem & qof &1 ga 2
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Given below are certain cations. Using inorganic
qualitative analysis, arrange them in increasing
group number from 0 to VL.

A. AP B. Cu?*
C. BaZ* D. Co?*
E. Mg2"

Choose the correct answer from the options given
below:

() B,A,D,C,E (2) B,C,A,D,E

3) E,C,D,B,A (4) E,A,B,C,D

The products A and B obtained in the following
reactions, respectively, are

3ROH + PCl; >3RCI + A

ROH + PCls—>RCI + HCI + B

(1) POCl; and HyPO4

(2) POCl; and H3PO,

(3) H;PO, and POCI,

(4) H;PO;5 and POCI,

Mass in grams of copper deposited by passing
9.6487 A current through a voltmeter containing
copper sulphate solution for 100 seconds is:
(Given : Molar mass of Cu : 63 g mol!,

1F =96487 C)

(1) 3.15¢g (2) 0315¢g

(3) 3l5¢g (4) 0.0315¢g

The plot of osmotic pressure (IT ) vs concentration
(mol L) for a solution gives a straight line with
slope 25.73 L bar mol~!. The temperature at which
the osmotic pressure measurement is done is:
(Use R =0.083 L bar mol™! K1)

(1) 37°C (2) 310°C

(3) 25.73°C (4) 12.05°C

Identify the major product C formed in the
following reaction sequence :

CH,-CH, -CH, —Iﬂ)A

OH™ NaOH C
Partial hydrolysis Br2 (major)

(1) propylamine

(2) butylamine

(3) butanamide

(4) o —bromobutanoic acid

Identify the correct answer.

(1) Three resonance structures can be drawn for
ozone.

(2) BF; has non-zero dipole moment.

(3) Dipole moment of NFj is greater than that
of NH;.

(4) Three canonical forms can be drawn for

CO?‘ ion.
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A PB g9 U T T | STehTE T O [agersor
% ST g, 3= el @98 el 0 VI de 5 garad

A. AP B. Cu?*
C. Ba?* D. Co?*
E. Mg2*

I faw U fasedt & w8 sav g

(1) B,A,D,C,E (2) B,C,A,D,E

3) E,C,D,B,A 4 E,A,B,C,D
frefeiaa sifafsearsti & s SdrE, A 8fit B %H9T: &
3ROH + PCl3 —>3RCI+A

ROH + PCls—>RCIl + HCI + B

(1) POCI; Td H;PO;

(2) POCI, Td H3PO,

(3) H;PO,TE POCI;

(4) H;PO;TE POCI;

BT Gehe faaa arel fhdl aieedeT ¥ 100 Hs &
17 9.6487 A TereIq—4m1 Yenfed i X MEfd Brax
BT T § GHHH &

(T T # : Cu &1 HieY 5eq| ™ ¢

63 g mol~!, 1F = 96487 C)

(1) 3.15¢ (2) 0315¢

(3) 315¢g (4) 0.0315¢

fopelt forerae & fore oo &1« (17) ofiX digar (Jra
@1 %) & g ste we T T It & et gra
25.73 L bar mol~! | & am f5@ w @ T
HIYT T E, &

(R =0.083 L bar mol™! K-fifs)

(1) 37°C (2) 310°C
(3) 25.73°C (4) 12.05°C
frrtafaa siffshar %9 o s 9@ 3ai C &

CH3 —CH2 —CH2 —IM>A
OH NaOH C

SR STaTEe Br
(7=)

2

(1) W=

(2) SHfewiHN

(3) =guEE

(4) o —SEEAEE A

TE I ghw:

(1) &I o fAq T STATE @XaATS STTRad l 11
ol & |

(2) BF; @& R fg—ya amgef sran 81

(3) NF; &1 fa—ya amgef NH; & fg—ga st @
arfires Eram 1

(4) Cogfw%mﬁ?ﬁﬁﬁwaﬁiﬁaﬁm
ST Tl B |
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Given below are two statements :

3+
Statement I : |:CO(NH3)6i| is a homoleptic

+
complex whereas |:C0(NH3)4C]2:| is a

heteroleptic complex.

3+
Statement I1 : Complex |:CO(NH3 )6} has only

+
one kind of ligands but |:C0(NH3)4 ClzJ has

more than one kind of ligands.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Both Statement [ and Statement II are true.
(2) Both Statement I and Statement II are false.
(3) Statement I is true but Statement Il is false.
(4) Statement I is false but Statement Il is true.

For the given reaction:

- KMnO,/H* p’

O Ko, o
H

Z:> (major

product)

The pair of lanthanoid ions which are diamagnetic
is

(1) Ce*"and Yb2"
(3) Gd3"and Eu3*

(2) Ce*" and Eu?*
(4) Pm¥" and Sm3*

Consider the following reaction in a sealed vessel
at equilibrium with concentrations of
N,=3.0x103M,0,=4.2x 103 M and
NO=2.8 x 107 M.

2N0(g) = N2 (&) + O2(g)

If0.1 mol L1 ofNO(g) is taken in a closed vessel,
what will be degree of dissociation (oc) of NO,

at equilibrium?
(1) 0.00889
(3) 0.8889

(2) 0.0889
4) 0.717
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I < woe fg T R
w1 [CO(NH3)6T+ TH TS T &

.

mﬁs[Co(NH3)4CIJ T Bl G ¥ |
3+

EB?HII:W[Co(NHQJ % e Th B B

fer & st [ Co(N,) 1, | 4w 3 o

T & ferrs ¥

IR feU T4 AT & YR IX, T fau o fawedt 9
T I A

(1) %991 3R a1l S & &1

(2) %91 3R U= 11 S Ted £ |

(3) & 1| & uig A 1 Tad 7

(4) ¥ 17Ad & T O 1 9 1

& 3 rfuferan & foa:
O_? =CH Kl\/InO4/H+
H

O
‘P E:

(1) O—CHO
Q) O—COOH

OH OH

3) <:>—|CH—|CH—<:>
00
W O-e-c=0O

WIS TGl @1 98 A Sl Gl Th §, &
(1) Ce*"sirYb?™ (2) Ce3' &R Eu?t
(3) Gd3* R Eu3"  (4) Pm3* afit Sm3*

VPV
(e 3me)

N,=3.0x103M, 0, =42 x 103 M 3T
NO = 2.8 x 1073 M @iganait & @y forelt diass arst
# frfeted @ ox fermmr st

2NO, .=N_, . +0

(2) 2(g)  2(e)
ﬂﬁNO(g)aiO.lmolL—laﬁé’m‘siatrﬁﬁﬁWTm,
ar ferirst = (o) /B0 ?

(1) 0.00889 (2) 0.0889
(3) 0.8889 4) 0.717
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A compound X contains 32% of A, 20% of B and
remaining percentage of C. Then, the empirical
formula of X is :

(Given atomic masses of A=64; B=40; C=32u)
(1) A,BC, (2) ABCjy

(3) AB,C, (4) ABC,

The work done during reversible isothermal
expansion of one mole of hydrogen gas at 25°C
from pressure of 20 atmosphere to 10 atmosphere
is:

(Given R =2.0 cal K-1 mol1)

(1) 0 calorie

(2) —413.14 calories

(3) 413.14 calories

(4) 100 calories

During the preparation of Mohr’s salt solution
(Ferrous ammonium sulphate), which of the
following acid is added to prevent hydrolysis of
Fe2* ion?

(1) dilute hydrochloric acid

(2) concentrated sulphuric acid

(3) dilute nitric acid

(4) dilute sulphuric acid

The rate of a reaction quadruples when
temperature changes from 27°C to 57°C.
Calculate the energy of activation.

Given R =8.314 J K- mol!, log 4 = 0.6021
(1) 38.04kJ/mol  (2) 380.4 kJ/mol

(3) 3.80kJ/mol (4) 3804 kJ/mol

Major products A and B formed in the following
reaction sequence, are

23
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T AiftTee X § A 32%, B & 20% i 99 wfeerd C
% 2199 X %1 JATI G &

(feamman : anfvas geaqm A =64; B=40; C=32u)
(1) A,BC, (2) ABC,

(3) AB,C, (4) ABC,

25°C 9% Ush I R3S 19 % 20 UHRSIT a9 9
10 UZATREAT 16 e SehAUI THATIIT J&XT o QI
foran o Rt 7

(Fer mar #: R = 2.0 cal K- mol1)

(1) O calorie

(2) —413.14 calories

(3) 413.14 calories

(4) 100 calories

AR @997 fIeae (B3E SMIaH dehe) & fatas &
I, Trefafad & @ fbg omd & Fe?™ omad &
STATTEA Bl Wb &b T oy s & 7

(1) a7 eEsEie o

(2) wiE qeRS o

(3) g sfze e

(4) T TR S

W9 a9 @l 27°C § 57°C qiafdd fopar s & a9
fopdlt arfafepa &1 31 X T[T 2 AT § | |ishaer St
UReBfd BT |

femmmar®: R =8.314J K- mol-!, log 4 = 0.6021
(1) 38.04kJ/mol  (2) 380.4 kJ/mol

(3) 3.80 kJ/mol (4) 3804 kJ/mol

frrfafaa sifufar 9 § 9 g7 3O, A e B #:

OH
1K PBr it KOH
3, A —(x — B
(7m) (3e=)
Br

H5C H5C
Do Rae

Br
H;Q H,C
Jaelae
OH OH
H3Q Br H;C
(3) A- . b=
OH 0

)
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Lecithin, a small molecular weight organic
compound found in living tissues, is an example
of:

(1) Amino acids (2) Phospholipids

(3) Glycerides (4) Carbohydrates

Which of the following are required for the dark
reaction of photosynthesis?

A. Light B. Chlorophyll
C. CO, D. ATP
E. NADPH

Choose the correct answer from the options given
below:

(1) A,BandC only

(2) B, CandD only

(3) C,DandE only

(4) DandE only

Spindle fibers attach to kinetochores of
chromosomes during

(1) Prophase (2) Metaphase

(3) Anaphase (4) Telophase

Bulliform cells are responsible for

(1) Inward curling of leaves in monocots.

(2) Protecting the plant from salt stress.

(3) Increased photosynthesis in monocots.

(4) Providing large spaces for storage of sugars.

In the given figure, which component has thin
outer walls and highly thickened inner walls?

(1 C
3) A
What is the fate of a piece of DNA carrying only
gene of interest which is transferred into an alien

2) D
4 B

organism?

A. The piece of DNA would be able to multiply
itself independently in the progeny cells of
the organism.

B. It may get integrated into the genome of the
recipient.

C. It may multiply and be inherited along with
the host DNA.

D. The alien piece of DNA is not an integral
part of chromosome.

E. It shows ability to replicate.

Choose the correct answer from the options given

below:

(1) AandBonly (2) DandE only

(3) BandConly (4) AandE only
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106

TSl Hdshl § U™ S ATl Uk 3Ted 319 9K &

BT 10T TG %1 T SETEXT & |
(1) THAY s (2) wrEptas
(3) Teauss (4) wEEESE

TeRTTE IO el STEI TTHieha % forg Frrefefead & &
fepTanT STrayTehdT Bl & 7

A. WIS B. artea (qofsha)
C. CO, D. ATP
E. NADPH
rd faw o faeedt ¥ 9 /& 39X A ghw:
(1) %a@ A,BaiRC
(2) ®%a@ B,C 3D
(3) %a@ C, DR E
(4) ¥a@ D s E
% qd Rusa wEad T & HEAADH A
SERIGES
(1) gatee (Wh=)  (2) wearawn (J2r)

(3) ugTTEE (TATh) (4)  SicTaR (Sah)

e BIITbIT (JeiThrd Hel) ST Biell 8
(1) TdSIEr (HMbzd) o qiial & ofet i &k

T+ & faq
() waﬁwaﬂm@faﬂﬁ%ml
(3) Qiﬁél\‘rlcr%l?fl ) ® aftfa weTer Tewwor
o e

(4) e & YR & U eife T 9ee B
% feral

oo fasr o, T Geres & uael ster fu ofi ety

Teyfera ity fafom g 8 7

() C 2 D

3) A 4) B

39 AT WS @I T At el o) % U Uy it

S et e fopy &, 7 ot feromier s & e

fpaT ST B ?

A. DNA &% T S[d %l Gald HITThen o @ &9
Y U H H FEH B

B. & U@l & M § GHfhd & "ehal B

C. AT HTh UM () SITAT &% |1 QT
HY TabeT

D. DNA & =i @S Jorgs &1 1= 9T 2%
BT

E. 3 ufqgia & &l awar Teiid e &1

I faw U faeedt § @ 981 SO @l gRTT:

(1) da@ AsiRB  (2) %a@ DR E

() FTBERC  (4) da@m AsRE
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107 Given below are two statements:
Statement I : Bt toxins are insect group specific
and coded by a gene cry [Ac.
Statement II : Bt toxin exists as inactive
protoxin in B. thuringiensis. However, after
ingestion by the insect the inactive protoxin gets
converted into active form due to acidic pH of
the insect gut.
In the light of the above statements, choose the
correct answer from the options given below:
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement Il is false
(4) Statement I is false but Statement II is true

108 List of endangered species was released by-
(1) GEAC (2) WWF

(3) FOAM (4) IUCN

109

Identify the part of the seed from the given figure
which is destined to form root when the seed
germinates.

1) A
3) C

2) B
4 D

110 Match List I with List IT

List I List 1T
A. Clostridium L. Ethanol
butylicum
B. Saccharomyces II.  Streptokinase
cerevisiae
C. Trichoderma III.  Butyric acid
polysporum
D. Streptococcus sp. IV. Cyclosporin-A
Choose the correct answer from the options given
below:

(1) A-IIL B-I, C-II, D-IV
(2) A-IL B-1V, C-III, D-I
(3) A-IIL B-I, C-IV, D-II
(4) A-IV, B-I, C-III, D-II
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107 <= &1 %o fau o
mml:Btmﬁw(ﬁﬁmﬁ)aﬁzwﬁﬂm@%%aﬁ'{
sﬂﬂﬁﬁﬁﬂcrylAcmWﬁgﬁ ) feran strar 31
& 11 : Bt anfer (it a‘)qﬁﬁﬁqﬁwﬁﬁ%ﬁq
UTBfaY (Weieiferae) & &9 § u1T o1d & | gafy, e
BT W'Y fohu s % e ffera wrepfay (Weieifera)
BT Bl A § A pH B & B0 AishT 9 H
gfkafdd & < ¥ |
U HUAT & STes § A fag T fqeed § @ 7w
T B g
(1) %991 3T Ba 11 S T &1
(2) ®u 1 3T Bu 11 <Y orae & |
(3) ®uT 19 T AfehT B 11 o 2 |
(4) ®uT 1 3E ¥ Wl buT 11 9T 2|

108  Teheu= (THe~ois) TWf i gdl o g1 fiarett
TS ANl
(1) GEAC (2) WWF
(3) FOAM (4) TUCN
109 U T fosr & &7 % 39 9T %! J&aT™ Bt ST Siel
& SIPHLd EH UX TS B I 3
(H A (2) B
3) C 4) D
110 g [ o1 gt 1 & frae it
ol | T 11
A. FEIETH I g
Serstorne
B. d@&umrsdia II. w<wEg
et
C. zrwisaf . =i o
gl
D. Bwiwiaed @, IV. dgaeiiE-A
I fau 1o fysedt & & @& ST @ g

(1) A-IIL B-I, C-II, D-IV
(2) A-IL B-1V, C-III, D-I
(3) A-IIL B-I, C-IV, D-II
(4) A-IV, B-L, C-III, D-II
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Identify the type of flowers based on the position
of calyx, corolla and androecium with respect to
the ovary from the given figures (a) and (b)

(1) (a) Epigynous; (b) Hypogynous
(2) (a) Hypogynous; (b) Epigynous
(3) (a) Perigynous; (b) Epigynous
(4) (a) Perigynous; (b) Perigynous

Auxin is used by gardeners to prepare weed-free

lawns. But no damage is caused to grass as auxin

(1) promotes apical dominance.

(2) promotes abscission of mature leaves only.

(3) does not affect mature monocotyledonous
plants.

(4) can help in cell division in grasses, to
produce growth.

A pink flowered Snapdragon plant was crossed
with a red flowered Snapdragon plant. What type
of phenotype/s is/are expected in the progeny?
(1) Only red flowered plants

(2) Red flowered as well as pink flowered plants
(3) Only pink flowered plants

(4) Red, Pink as well as white flowered plants

Which one of the following is not a criterion for
classification of fungi?

(1) Morphology of mycelium

(2) Mode of nutrition

(3) Mode of spore formation

(4) Fruiting body

The lactose present in the growth medium of
bacteria is transported to the cell by the action of:
(1) Beta-galactosidase

(2) Acetylase

(3) Permease

(4) Polymerase

In a plant, black seed color (BB/Bb) is dominant
over white seed color (bb). In order to find out
the genotype of the black seed plant, with which
of the following genotype will you cross it?

(1) BB (2) bb

(3) Bb (4) BB/Bb
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112

113

114

115
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fau o fa=i (a) ofX (b) & sis19M & daw H qrereayst
(bferer), qegT (i) oK gerT (Tegfaram) @l Rafa
% ST 9T oY &% FbTT Bl T8Iy |

(1) (a) SUied (b) SRAMER

(2) (a) SEAFMER (b) SEARE

(3) (a) ufwmar (b) SAFMATE

(4) (a) gfesmar (b) wfeT=m

GRYAA—ad Sirar R & & T A s

T IULTT B & | Wik 3T =T B hIs &fd el il

T ifen STTera:

(1) o womferan &t wienfed &ear 21

(2) haw ufued uraal & e &t & giened
HLT B

(3) TUTH THATSTISI UGl bl FHTTad el Hdm & |

(4) =TEl H BTy e & Terd € dodl & el
gfg &1 Tk |

T TATEl g I IS b U B A gl
TUSTH & GIY % T GO BT 14T | Gald § fopd
TBIX % TAUTEYT % &I Bl SHIG Bl Tl & 7

(1) %aa @rd goT ard 9

(2) S AT ST T[T g AT W

(3) ad TS IO AT ey

(4) e, TATE 6 AT & TS I AT A

fr=fefad & & o9 a1 Bl & TR B Tk s
TWE?

(1) HedhoTe (ATEHIETH) Dl ST el

(2) drwer @ fafl

(3) Sy fmtor T qRT

(4) e BT

Siraropsti & gfg Aream ¥ Suftad ward Br iy ¥
I fopam gra el fepam strar 1

(1) «a-TeedEsd

(2) uftfena

(3) witeE

(4) deimEE

% ey §, St 1 e <1 (BB/Bb) @%a 1 (bb)
X GHTET & | Biel SIoT dTed 18T T SM96Y 51d 6 &
o, ot ST e =faiad o @ fba siwed &

q1eY o G1e Hu ?
(1) BB (2) bb
(3) Bb (4) BB/Bb
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Given below are two statements:

Statement I : Parenchyma is living but
collenchyma is dead tissue.

Statement II : Gymnosperms lack xylem vessels
but presence of xylem vessels is the characteristic
of angiosperms.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement Il is true

How many molecules of ATP and NADPH are

required for every molecule of CO, fixed in the

Calvin cycle?

(1) 2 molecules of ATP and 3 molecules of
NADPH

(2) 2 molecules of ATP and 2 molecules of
NADPH

(3) 3 molecules of ATP and 3 molecules of
NADPH

(4) 3 molecules of ATP and 2 molecules of
NADPH

A transcription unit in DNA is defined primarily
by the three regions in DNA and these are with
respect to upstream and down stream end;

(1) Repressor, Operator gene, Structural gene
(2) Structural gene, Transposons, Operator gene
(3) Inducer, Repressor, Structural gene

(4) Promotor, Structural gene, Terminator

Tropical regions show greatest level of species

richness because

A. Tropical latitudes have remained relatively
undisturbed for millions of years, hence
more time was available for species
diversification.

B. Tropical environments are more seasonal.

C. More solar energy is available in tropics.

D. Constant environments promote niche
specialization.

E. Tropical environments are constant and
predictable.

Choose the correct answer from the options given

below:

(1) A,C,DandE only

(2) AandBonly

(3) A,BandE only

(4) A,BandD only
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120

T &1 s fou o ¥

o | : J50e Tiia Wb seuiae 9d dh ¢ |
w11 : frrenig (sFgaaital) & aw arfse
(srgaenfrar) @i fagar ¥

SUYeRT BUAT b ST H, foy MU fadmeat § & @ AT
@ giHa:

(1) a1 3R %o 11 I T B |

(2) ®u 1 3R By 11 T o8

(3) &9 1 9 ¢ Wl B 11 o7 3

(4) ®uT 1 38 ¥ Wi bu 11 9 2|

HivaT T ¥ ARied 39 a CO, & TS 317 &
foTT ATP 3fR NADPH & fopast aTopaii @l smagaresar
B S ?

(1) ATP & 3 & 3k NADPH & 3 &17]

(2) ATP % 3 &1 3t NADPH & 2 317

(3) ATP % @ &1 3t NADPH & 3 a17]

(4) ATP % @ &7 3t NADPH & 2 &17]

AT (DNA) ¥ STAE (ZTahper) 3613 ol urafie
Y Y T H A & g i foman o ® 8ix
T FHeayare! (FUEm) oK arefiyare! (318 ©@m)
% Had H/ame ¢

(1) G (TOER), gaTad (STee)) SH, E3a-THw

S

(2) TGS S, YN, T (STTIEy) Sie
(3) F=gan (fau), daws (FE), dXaiets SiF
(4) 9HR=Y, TS o, g9 (i)

SuhfeAHr &5 (2ifre) ITaan WX A Sifd Sgadr
@ YT HYd €, FlTh
A.  SUIGHREHR SaisT ATl aul qob STUEhd g
W@ ¥, o1 Wiig fafadiator & fau arfye awg
U o
B. Swafead gatater ¥ sifte Hem/#gd
B E |
C. Twrehfedel &N § a1fire X SHoil SUwed &l & |
D. R waterer fea fafyrietor & gem@n 3ar 2
E. Swhfedda waete Rox it qagaee e 31

I fau 1o fysedt & & @& ST @ g
(1) ®aa A, C,DsiRE
(2) %aa AsiB
(3) %ad A,BRE
(4) waw@ A,BsixD
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The equation of Verhulst-Pearl logistic growth is
dN | K=N

@

From this equation, K indicates:

(1) Intrinsic rate of natural increase

(2) Biotic potential

(3) Carrying capacity

(4) Population density

Inhibition of Succinic dehydrogenase enzyme by
malonate is a classical example of:

(1) Cofactor inhibition

(2) Feedback inhibition

(3) Competitive inhibition

(4) Enzyme activation

Which one of the following can be explained on

the basis of Mendel’s Law of Dominance?

A. Out of one pair of factors one is dominant
and the other is recessive.

B. Alleles do not show any expression and both
the characters appear as such in F,

generation.

C. Factors occur in pairs in normal diploid
plants.

D. The discrete unit controlling a particular

character is called factor.
E. The expression of only one of the parental
characters is found in a monohybrid cross.
Choose the correct answer from the options given
below:
(1) A,BandC only
(2) A,C,DandE only
(3) B,CandD only
(4) A,B,C,DandE

Match List I with List II

List I List IT

Nucleolus I.  Site of formation
of glycolipid

Centriole II. Organization like
the cartwheel

Leucoplasts III. Site for active
ribosomal RNA
synthesis

D. Golgi IV. For storing
apparatus nutrients

Choose the correct answer from the options given
below:

(1) A-IIL, B-II, C-1V, D-1

(2) A-IlL, B-III, C-I, D-IV

(3) A-IL B-1V, C-1I, D-1

4) A-L B-1I, C-lII, D-IV
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AR JIgHTd gha (AT TNe) B FHBIT
dN  [K-N

¥

7q g ¥ K Tafea s &

(1) vpfae ghg @ = &<
(2) Sfas awan

(3) T

(4) wEE g

AAME E G SIe3gINTE TgH &l §gqT

T IHE ITEL |

(1) ®IHFT (FeHrH) T

(2) wiEd® TEuT

(3) ufqat deaa

(4) wwTgH wighas

frrefofad & 9 fee A=a & wofaar & Fam &

STET U TG bl T Febell & 7

A.  HFTH TS SIS H A Th THET 3K qE STIHTE
TR ?

B. TUH@ &3 sifHeafed yaiia T8l &id § oK F,
9t # ST Tor S U H Yohe B W1 & |

C. g fafora urel # et Siist & g o71d 1

D. fepelt ot T et Fortra sy ara faferer 3erg
HeFeX HEAT & |

E. UHa@HT €60 § %ad Tk 91 h & 0 B
et Bl & |

ra fau 1o et & & @2 sa% &1 g

(1) %a@ A,BaixC

(2) %aw A,C,DaRE

(3) %aw B, C sik D

(4) A,B,C,D&RRE

T Lot ga 11§ frae shifsre:

T Tl

A. gFiead (Bfsd) [ TAEHIWYS & a9
Dbl el

B. afgena II. gl &% qfew s
ESRIES

C. SHe 1. gfpT TeaEmET
JITAT HITTT
EIRVKI

D. Tiesil ST IV. il & ST
% feg

I feu 1o fysedt & & w& ST @ g

(1) A-III, B-II, C-1V, D-I

(2) A-II, B-IIL C-1, D-IV

(3) A-III, B-1V, C-II, D-I

(4) A-L B-II, C-III, D-IV
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Identify the set of correct statements:

A. The flowers of Vallisneria are colourful and
produce nectar.

B. The flowers of waterlily are not pollinated
by water.

C. In most of water-pollinated species, the
pollen grains are protected from wetting.

D. Pollen grains of some hydrophytes are long
and ribbon like.

E. In some hydrophytes, the pollen grains are

carried passively inside water.
Choose the correct answer from the options given
below:

(1) C,DandE only

(2) A,B,CandD only

(3) A,C,DandE only

(4) B,C,DandE only

Match List I with List II
List I List IT
Rhizopus I.  Mushroom
Ustilago II.  Smut fungus
Puccinia III. Bread mould
Agaricus IV. Rust fungus

Choose the correct answer from the options given
below:

(1) A-IIL, B-II, C-1V, D-1

(2) A-L B-III, C-1I, D-IV

(3) A-II, B-II, C-I, D-IV

4) A-1V, B-III, C-1I, D-1

Hind Il always cuts DNA molecules at a particular
point called recognition sequence and it consists
of:

(1) 8bp
(3) 4bp

(2) 6bp
(4) 10 bp

Which of the following is an example of
actinomorphic flower?

(1) Datura (2) Cassia

(3) Pisum (4) Sesbania

The type of conservation in which the threatened
species are taken out from their natural habitat
and placed in special setting where they can be
protected and given special care is called;

(1) in-situ conservation

(2) Biodiversity conservation

(3) Semi-conservative method

(4) Sustainable development

29

125 G& HUA b TS Bl TRAN:

A.  frgafar & g TiF 8 ¥ ot A ffda
B

B. i@l (S@gHeT) & YT STd &1 YRR ol
T E|

C. orfepier T@—uIRTa Wisher o, uxrTese fiet 5
Y U (9) & )

D. %% SeigHal (S1EEIHIEEE) % TR0l T 37T
o (ae) 99 2

E. 3B SWRWal (SE5SIw3ed) W, IR &l 5id
% ofe & ffthg =9 & & S S ®

I faw o faeedt § 9 981 IO @l ghTw:

(1) ®aa C,DaRE

(2) %aw A, B, CaixD
(3) ®awA,C,DRE
(4) %aw B,C,D3RE

126 & &1 gat 11 & e st

127

128

129

ooy

T T 11
WEATT I. HAEd
et II. @2 (&) Bad
geRlfrar 1. S5 UL & Bha
TIR%d IV. & (fhze) ®a%
:ﬁ%r fau T fysedt & & @ ST @ gh:
(1) A-III, B-II, C-1V, D-1
(2) A-1, B-III, C-II, D-IV
(3) A-II, B-II, C-1, D-IV
(4) A-1V, B-III, C-I1, D-1

Hind I ST0AT S &l 9ed U F1ad (65 I srean
& o atfera St (RebTTIeT Sie=) e €, 81K
3EH B &

(1) 8bp (2) 6bp

(3) 4bp (4) 10bp

Frrfafed & & o a1 Sreaemta (TFRFAMIES) 7
T Ueh IR & 7

(1) s (2) @Rar

(3) wEEH (4) g

T BT I8 b forew faaager sfa & 3%
UTehfcreh TaTaTe § S1eX fepraes fashy srewen (&fém)
@ ST & STt 9 GRiad 1& ol § ST Sl (99
@A BT AT &, TE BTl &

(1) T g@xan

(2) Srafafaermar weor

(3) erd—wel fafy

(4) Gad faema/dEraant fawe
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130 Given below are two statements:

131

132

Statement I : Chromosomes become gradually
visible under light microscope during leptotene
stage.

Statement I1 : The begining of diplotene stage is
recognized by dissolution of synaptonemal
complex.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement Il is true

Formation of interfascicular cambium from fully
developed parenchyma cells is an example for
(1) Differentiation (2) Redifferentiation
(3) Dedifferentiation(4) Maturation

The capacity to generate a whole plant from any
cell of the plant is called:

(1) Totipotency

(2) Micropropagation

(3) Differentiation

(4) Somatic hybridization

133 Match List I with List II

134

135

A.

C.

D.

List I List IT
Two or more alternative 1.  Back cross
forms of a gene

Cross of F; II. Ploidy
progeny with

homozygous

recessive parent

Cross of F| progeny II. Allele
with any of the parents

Number of chromosome IV. Test cross

sets in plant
Choose the correct answer from the options given
below:
(1) A-L, B-II, C-III, D-IV
(2) A-IL, B-I, C-III, D-IV
(3) A-IIL B-1V, C-I, D-II
(4) A-1V, B-III, C-11, D-1
The cofactor of the enzyme carboxypeptidase is:
(1) Zinc (2) Niacin
(3) Flavin (4) Haem
These are regarded as major causes of biodiversity
loss:

A. Over exploitation

B. Co-extinction

C. Mutation

D. Habitat loss and fragmentation
E. Migration

Ciloose the correct option:
(1) A,CandDonly (2) A,B,CandD only
(3) A,BandEonly (4) A,BandD only
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e 31 w9 few U §:

Fo | 2 TR T0/3TIRAT % SO JahraT gerastt §
?ﬁww(m)mw%ﬁ@ééﬁm
|

FA 11 : T@RM av/erawer & oY &I qga™
e e & fagiem & 2y 21

Ut HYL % S A, faw T Tt F 9w AT
@ giHu:

(1) a1 8iX & 11 3T 9 2|

(2) wu 1 8fX & 11 3l orae &

(3) ®uT 19 T WiehT B 11 316 § 1

(4) HI 1 36 & AfehT Ba 11 9 1

guia: fasfaa gaae sttt & siaugara Hhaem

1 ST T Teh SETEXIT & |
(1) fade= (2) yAfdHEA
3) RIEEES (4) uftgees

UTEY %1 TepET WY BITTeRT | YUt UTed Bl fesiid dHe i
&THAT hewTl &

(1) qofgrerman (Srémre=)

(2) AU (AIShIUTRISTH)

(3) favew
(4) IR HHBIT
133 g o1 a1 | B difs:
T T 11
A. THEAM B AT SIS L YA HHTT
Yehieqeh TEY (S w1a)
B. F, €afd & g9gmsi 1. o
YT WTh & T1d (wizSY)
ESETRS
C. F, §afd @ fordll ot . ue
I o T FHTU
D. uRY ¥ U 2t IV.  wdeomd
%I ST GHTI
(3% Bre)
Ira feu 1o fyeedt & & @& STX @ ghw:
(1) A-1, B-II, C-III, D-IV
(2) A-IL B-I, C-lII, D-IV
(3) A-IIL B-1V, C-1, D-lI
(4) A-1V, B-III, C-II, D-1
TTISH BISITFIUNEST Bl Tehh (Bhael) &
(1) fw (2) frenfam
3) wfa 4) &=
3! Stafafererar i &1 % T ST AT ST &
A.  afera
B. we-faqha
C. SafEd
D. ugterd & 8fiX werHas
E. varew
TE! fasbeq ®1 T

(1) Faw A, C3iXD (2) %aw A, B, C3iRD
(3) waw A,B3iRE (4) %aw A, B3 D
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‘ Botany : Section-B (Q. No. 136 to 150) |

136 Match List I with List IT 136 =1 | &1 gar 1 & fem it
List I List II T 1 T 11
(Types of Stamens) (Example) (e % W) (FerET™)
A. Monoadelphous 1.  Citrus .
) A. Upagdl (MHUseRd) 1 fagm
B. Diadelphous Il. Pea .
C. Polyadelphous II. Lily B. m (sTEUSTHH) IL. wex
D. Epiphyllous IV. China-rose C. gdHl (Teiigsehd) L. ferelr
Choose the correct answer from the options given D.  siftrgeli/afias o= IV, =TT TSt/ gee
below: e few o fasedt & @ & SO @ g
(1) A-1V, B-II, C-I, D-III (1) A-1V, B-II, C-1, D-I1I
(2) A-1V, B-I, C-II, D-III (2) A-1V, B-1, C-II, D-III
(3) A-L B-II, C-1V, D-III (3) A-I B-II, C-1V, D-III
(4) A-IIL B-I, C-1V, D-ll (4) A-IL B-1, C-IV, D-IT
List I List IT T @
A. GLUTH4 [.  Hormone
B. Insulin II. Enzyme A. GLUT4 L em
C. Trypsin . Intercellular B. ggfer II. T
ground substance C. feftas II. Sl
D. Collagen IV. Enables glucose Tl aare
transport into cells D. ®eSH IV. wifyrebraet & e
Ehloose the correct answer from the options given ¥ P @ gYg
elow: T
(1) A-1V, B-, C-11, D-III . )
(2) A-L B-IL, C-III, D-IV #fre fo e feredt F A wé S A gh:
(3) AL BAIL C-IV, DI (1) A-IV, B-1, C-I1, D-III
(4) A-IIL, B-1V, C-I, D-II (2) A-lL, B-II, C-III, D-1V
. L L . (3) A-IL, B-IIL, C-1V, D-1
138 Identify tl.le step in tr.lcar'boxyllc acid cycle, which (4) AL, B-1V, C-I, D-I
does not involve oxidation of substrate.
(1) Malic acid — Oxaloacetic acid 138 ZIshISiifeRafeTeh 3Tt Teh o IH X bl TEeT iy,
(2) Succinic acid — Malic acid e fpameam/aeee o SiedBor T2 BIaT &
(3) Succinyl-CoA — Succinic acid (1) Afdew art — SRTdiesd
(4) Isocitrate — o -ketoglutaric acid () TR o — A on
139 Match List I with List II (3) WRIATEA-CoA — TRIfTh S7oct
List I List IT (4) MEEEEI —> o- A
A. S;;[:rllec acid I.  Cytoplasm 130 i [ or el 11 & Porers i
B. Glycolysis Il. Mitochondrial Tl T
matrix A. uEfes sra-—asw 1. *iReEA
C. Electron III. Intermembrane B. @GR II. wrg2mmigan afgaa
transport space of C. sdmmafr 1L wEdeiea
system mitochondria EfERC AR AT I L AT Lt
D. Proton IV. Inner fRyen (i) T
gradient mitochondrial .
membrane D. Y yaurdr IV. Hiad wEeeitgan
Choose the correct answer from the options given P SN %1? ofre
below: T ferhedl I :
(1) A-I, B-II, C-III, D-IV (1) A-lL, B-II, C-III, D-IV
(2) A-IL, B-l, C-1V, D-III (2) A-IL B-I, C-1V, D-III
(3) A-II, B-1V, C-1, D-1I (3) A-IIL B-1V, C-1, D-II
(4) A-1V, B-IIL, C-I1, D-I (4) A-1V, B-II, C-11, D-1
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Match List [ with List II

ListI List IT

Frederick I.  Genetic code
Griffith

Francois Jacob II. Semi-conservative
& Jacque mode of DNA
Monod replication

Har Gobind III. Transformation
Khorana

Meselson & IV. Lac operon

Stahl

Choose the correct answer from the options given
below:

(1) A-IIL, B-II, C-1, D-IV

(2) A-IL B-1V, C-1, D-II

(3) A-IL B-III, C-1V, D-1

(4) A-IV, B-1, C-I1, D-III

Given below are two statements:

Statement I : In C; plants, some O, binds to
RuBisCO, hence CO, fixation is decreased.
Statement II : In C plants, mesophyll cells show
very little photorespiration while bundle sheath
cells do not show photorespiration.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement II is true

Identify the correct description about the given
figure:

Wind pollinated plant inflorescence showing
flowers with well exposed stamens.

Water pollinated flowers showing stamens
with mucilaginous covering.
Cleistogamous flowers showing autogamy.
Compact inflorescence showing complete
autogamy.

3)
4
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A.

B.

C.

D

141

142

T [t g 11| el shifore:

T Tl
s e L oganm® g2
(SHfew Bre)

Yeplgq She Ud II. 2wy gfagfaas
Wh WS T ard—ael ugfy
T ST @R . wuider

. TOWEd Ud ®d IV. Wo—amuis

I faw o faeedt ¥ 9 & 39X A ghw:

(1) A-III, B-IL, C-1, D-1V

(2) A-II, B-1V, C-1, D-II

(3) A-II, B-III, C-1V, D-I

4) A-1V, B, C-II, D-1IT

I < B faw o #:

F 1 : C; uredl #, 38 O, &fqwh! (RuBisCO) T g
B I 7, o1 CO, ARHIHToT &9 & Sl 2 |

o 11 : C,y uredl ®, viediad ®IvThd g &9
yeTeTyaEe yafifa sl ¥ wiafe qaresg #ifded
THIITET Y & Bl ¢ |

UG B! b Srd H, foy T faebedt § & 7 saT
& g

(1) a1 iR %o 11 I T B |

(2) ¥ 13X B 11 THT 38 |

(3) ®UT 19 T WiehT B 11 318 ¥

(4) U1 3TE T Wit U 11 6 2|

fqu U fa=r % =& faavor &1 veanta:

(1) ggITaad gai &I 390 Y a1g UARTT q1ey

T JHH
(2) ST STEXT T YHET Bl q90d FY A

(FArE) g
(4) qot @WewgA (SR @l qorfd 5T &d
(i) JoTshd
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Match List [ with List II

List I List IT
A. Rose I.  Twisted aestivation
B. Pea II.  Perigynous flower
C. Cotton HII. Drupe
D. Mango IV. Marginal placentation

Choose the correct answer from the options given
below:

(1) A-IL B-1V, C-1, D-III

(2) A-L, B-II, C-1II, D-1V

(3) A-1V, B-III, C-1I, D-1

(4) A-IL B-IL, C-1V, D-1

Read the following statements and choose the set

of correct statements:

In the members of Phaeophyceae,

A. Asexual reproduction occurs usually by
biflagellate zoospores.

B. Sexual reproduction is by oogamous method
only.

C. Stored food is in the form of carbohydrates

which is either mannitol or laminarin.

The major pigments found are chlorophyll

a, ¢ and carotenoids and xanthophyll.

E. Vegetative cells have a cellulosic wall,
usually covered on the outside by gelatinous
coating of algin.

Choose the correct answer from the options given

below:

(1) A,B,CandD only

(2) B,C,DandE only

(3) A,C,DandE only

(4) A,B,CandE only

In an ecosystem if the Net Primary Productivity
(NPP) of first trophic level is

100x (kcal m2 ) yr_1 , what would be the GPP
(Gross Primary Productivity) of the third
trophic level of the same ecosystem?

(1 % (kcal m_z) yr_]

(2)  x(kcal m_z) yr_1
3)

4

10x (kcal m_z) yr_1
100x

(kcal m- ) yr
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144

145

T [t g 11| el ahifore:

T T 11
A. TS . =grafda gea faama
B. #WxX 1. ofemErt go
C. &u™ 1. S Be/gd
D. &m™ IV. dmid Ssis=as
I fau 1o fysedt & & @& ST¢ @ g
(1) A-IL, B-1V, C-I, D-III
(2) A-lL B-II, C-1IL, D-IV
(3) A-1V, B-III, C-II, D-I

)

fFrrfaRaa st i ufew ofik @t Bl % a2 @ g

Tl & dewi o,

A. ot S wrE: feamemedl SR (et @@
dTopstt) % &1 BT 2 |

B. it S dhaw fawrgma (Seia) fafy &
BT ¥

C. dfad @ #refeEse & &9 ¥ gar & o d-e

TaT AHMNRE 7

T T 9T e aeies quisiid/ained a, ¢

3T FRifeATse qur Sriftea 21

E. aiies sifirebrstl & S fafd e &, i e
1 3T T Tfest & Retfesl Siraser § smafd
Bl %

T feu 1o et & & w& IX @ g

(1) %@ A, B,C3irRD

(2) ®a@ B, C,D3iXE

(3) %aw A, C,DRE

(4) ®aa A,B,C3RE

fepdll wiftRafaes o (Saifaeed) & afs gaw did &%

%1 2 et SeraT (NPP) 100x (keal m™2) wfed

T a9 39 uiftRyfas 0 & g 9w &1 GPP
(TeheT WIS ITEH) T BT 2

A-I1, B-III, C-1V, D-1

(1) = (keal m™) strrd
)

)

x (kcal m_z) EIRCA]
10x (kcal m_z) EIRCA]

100x

) - (keal m™2) e
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Which of the following statement is correct
regarding the process of replication in E.coli?
(1) The DNA dependent DNA polymerase
catalyses polymerization in one direction
thatis 3°—>5°.

The DNA dependent RNA polymerase
catalyses polymerization in one direction,
thatis 5 —>3°.

The DNA dependent DNA polymerase
catalyses polymerization in 5 — 3’ as well
as 3’ — 5’ direction.

The DNA dependent DNA polymerase
catalyses polymerization in 5° — 3’ direction.

)

)

4

Which of the following are fused in somatic
hybridization involving two varieties of plants?
(1) Callus (2) Somatic embryos
(3) Protoplasts (4) Pollens

Spraying sugarcane crop with which of the
following plant growth regulators, increases the
length of stem, thus, increasing the yield?

(1) Auxin (2) Gibberellin

(3) Cytokinin (4) Abscisic acid

Match List I with List IT

List I List II

A. Robert May

L.

Species-Area

relationship
Long term
ecosystem
experiment using
out door plots
Global species
diversity at about
7 million

Rivet popper
hypothesis
Choose the correct answer from the options given
below:

(1) A-IL B-III, C-I, D-1V

(2) A-IL, B-I, C-1V, D-II

(3) A-L B-III, C-1I, D-IV

(4) A-IIL, B-1V, C-11, D-1

B. Alexander von II.

Humboldt

C. Paul Ehrlich I11.

D. David Tilman IV.

The DNA present in chloroplast is:
(1) Linear, double stranded

(2) Circular, double stranded

(3) Linear, single stranded

(4) Circular, single stranded
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146

147

148

149

150

g g ® wlaepfaas (Ytibe™) i Ufeham & wae &

frefafaa ¥ ¥ M T paT @& 2 7

(1) Fgu (DNA) Frefr Siuee diea us fyeom &
Ml 3’ — 5" | TABIBIT Bl IANA BT &1

(2) oAy frefR eTRTAT (RNA) aiefmd U o
FAM 5° — 3" H gD Bl IANT BT 5 |

(3) SuAu R AT G 5 — 3 & -9y
3’5 faem & +ff SgadIBIT B SANG Bl
gl

(4) dmn fedx e dieeE 530 fyam
FEADIBIT Bl ST BT & |

q1et @l &1 Tehel bl aiufed BT U HiidH GeboT
Frrfafad & € ot g grar & 7

(1) &a| (2) Ia® Yo

(3) URR (4) TR

T %! %ad H Frfaiad urqy ghs et & faae
Togehra & & I @ Ta18 56 Wl &, ek waaey

Il & ghg B ¥ 7
(1) iR () Tt
(3) ErEEHEA (4) Uit o=
Tl [ g 11 | el siferg:
T T 1l
. e H [ ofa—&o%d g9
TfeeRT~sT i II. oSSR Wi ®
T IYGNT & Sraare
arfRafee a
e
gt Tfeten M. Afyees Sfd fataeran
HT 70 W
(7 taferas) 3
. e e IV. fEe—dw
i {ehedT
e g T famedt ¥ @ W& oK @ g
(1) A-IL B-IIL C-I, D-IV
(2) A-IL B-L, C-1V, D-II
(3) A-1, B-IL C-II, D-IV
(4) A-IIL, B-1V, C-11, D-I
Baeas (Fre) ¥ suiad DNA/STAT &:
(1) Yes, T9s
(2) g, fatoyys
(3) awh, THATTH
(4) I, THERoTH
[ Contd...
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151

152

153

154

Q6_

Match List [ with List II :
List I List IT
A. Common cold I.  Plasmodium
B. Haemozoin II.  Typhoid
C. Widal test II. Rhinoviruses
D. Allergy IV.  Dust mites
Choose the correct answer from the options given
below :
(1) A-IL B-1V, C-1II, D-1
(2) A-L B-III, C-II, D-1V
(3) A-II, B-1, C-1I, D-IV
(4) A-1V, B-II, C-I1I, D-1
Match List [ with List II :
ListI ListII
A. Cocaine I.  Effective sedative in
surgery
B. Heroin Il.  Cannabis sativa
C. Morphine II. Erythroxylum
D. Marijuana IV.  Papaver sommferum
Choose the correct answer from the options given
below :
(1) A-1V, B-II, C-I, D-II
(2) A-L B-1II, C-1I, D-IV
(3) A-IL B-L, C-III, D-1V
(4) A-IL B-1V, C-I, D-II
Match List I with List II :
List I List IT
A. Fibrous joints I.  Adjacent
vertebrae, limited
movement
B. Cartilaginous II. Humerus and
joints Pectoral girdle,
rotational
movement
C. Hinge II. Skull, don’t
joints allow any
movement
D. Ball and IV. Kbnee, help in
socket joints locomotion

Choose the correct answer from the options given
below :

(1) A-IV, B-IL, C-III, D-I

(2) A-L B-III, C-1I, D-IV

(3) A-IL B-III, C-I, D-1V

(4) A-IIL B-L, C-1V, D-II

Which of the following are Autoimmune
disorders?

A. Myasthenia gravis

B. Rheumatoid arthritis

C. Gout

D. Muscular dystrophy

E. Systemic Lupus Erythematosus (SLE)
Choose the most appropriate answer from the
options given below :

(1) A,B&Donly (2) A,B&Eonly

(3) B,C&Eonly (4) C,D&Eonly

Hindi+English |
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151 o 1ot g 11 & | gafaa &

T 1 T
T B AT
HEIEIES] TAHIES
ferstar wrdveror EHEEE
TSt o faeet
ﬁn:f faenedl | 91 I &1 T Wﬁ

(1) A-IL, B-1V, C-III, D-I

(2) A-l B-IL C-II, D-IV

(3) A-II, B-I, C-II, D-1V

(4) A-1V, B-II, C-11I, D-I

152 g [ &t gar 1 % @ garad sa—
T T 1T

Bl
fetigT

oow»

L.

. &g derzar
HiThT . ofrezad
Afcggsm IV. 997 ar1%e
1 fasbeal & T8 AT &1 99 B

(1) A-1V, B-II, C-1, D-II

(2) A-L B-IIL C-II, D-1V

(3) A-II, B-I, C-III, D-IV

(4) A-I1, B-1V, C-I, D-II

153 ot [ &r gt 11 % arer gafed wi—

T 1 T 11

i dfirat freeadt Hare®,
it Tt
I Ud 3
e, goit fd
HUT, Bl3 T
TR Bl

Hgh Wil g1, I |
ittt TETAT BT &
1 faepeal & |21 ST 1 99 B

(1) A-1V, B-II, C-III, D-I

(2) A-1, B-II, C-II, D-IV

(3) A-II, B-III, C-I, D-1V

(4) A-IIL B-1, C-IV, D-II

ot & i wwfare faer & ?

A, et Afaw

B. wAZage dftr anyg
C. W&e
D. efra gudrer
et wua Ty (Tq ud 3)

Cowpx

A. L.

B. Suiie g
A
el Great

154

E.
1 fasbeal & 999 91 ST &1 999 B

(1) ®a@ A,B3iRD (2) %ad A, B3RE
(3) ®a@ B,C3RE (4) %aw C,D3RE
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JTedishaT § THTE! STHEH



155 Which of the following is not a component of

156

oCOow>

Fallopian tube?
(1) Uterine fundus (2) Isthmus
(3) Infundibulum (4) Ampulla

The flippers of the Penguins and Dolphins are
the example of the

(1) Adaptive radiation

(2) Natural selection

(3) Convergent evolution

(4) Divergent evolution

157 Match List [ with List II :

List I List 1T
a-1 antitrypsin I.  Cotton bollworm
Cry IAb II. ADA deficiency
Cry IAc III. Emphysema
Enzyme IV. Corn borer
replacement
therapy

158

Choose the correct answer from the options given
below :

(1) A-IIL B-I, C-1V, D-III

(2) A-II, B-1, C-1I, D-IV

(3) A-IL B-1V, C-I, D-II

(4) A-IL B-1V, C-1, D-lII

The following diagram showing restriction sites
in E.coli cloning vector pPBR322. Find the role of
‘X" and ‘Y’ genes :

EcoR I-Cla [ Hind 11l
™, H

\
Pvu II

(1) The gene ‘X is responsible for resistance to
antibiotics and ‘Y’ for protein involved in
the replication of Plasmid.

The gene ‘X’ is responsible for controlling
the copy number of the linked DNA and ‘Y’
for protein involved in the replication of
Plasmid.

The gene X’ is for protein involved in
replication of Plasmid and ¥’ for resistance
to antibiotics.

Gene ‘X’ is responsible for recognition sites
and ‘Y’ is responsible for antibiotic
resistance.

)

)

4
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155 =1 9 &9 BAIas el & 3Teaad el & 7

156

(1) sl wed
(3) ®uH

(2) dehvay
(4) dferpr

Uit ofix sifew & ffod Sareeo @
(1) Sggel fafenor &

(2) WThlaH a1 Bl

(3) afhET farE &t

(4) eruETl faer @t

157 g [ &f gar 1 & @ garad sa—

158

Sowp

Tl

o.-1 gafefem L.
FEITH 1.
®1s [T d I11.
ToTsH i V.
Taferear

o1 forehedt & TE1 ST &1 99 &
(1) A-IL B-I, C-1V, D-1II

(2) A-I, B-1, C-II, D-IV

(3) A-I B-1V, C-1, D-lI

4) A, B-1V, C-I, D-1II

o faw T @ ® & giarg et dares pBR322
% yfqeed wa g T E X wd Y S @ fie
T IaT @S

Ll

HUT Sread
T Y T ol HHT
EIRERAIN]
Hefeh Bah

EcoR L\C\Iai Hind I1I

ST X wfasttae & uia gfae & fag saem
T o Y O WM W s % widgia §
qafdd aid 21

S X dftra e @t st e & e %
I SAEr & 8T Y 39 WioN S WIS @l
yfaefa & aftafad 21

S X I W ST s bl wfoepf 3 afufad
2 it Y wferstferss & wfa wferren

WM X qgaTe ST % fie SaErt ¥ we Y
yfstfeares % ufa afary & g sawer 2

M

)

)

4
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159 Given below are two statements : one is labelled

160

161

162

163

164

oOwp

as Assertion A and the other is labelled as

Reason R :

Assertion A : Breast-feeding during initial period

of infant growth is recommended by doctors for

bringing a healthy baby.

Reason R : Colostrum contains several antibodies

absolutely essential to develop resistance for the

new born baby.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) Both AandR are correct and R is the correct
explanation of A.

(2) Both A and R are correct but R is NOT the
correct explanation of A.

(3) A s correct but R is not correct.

(4) A isnot correct but R is correct.

The “Ti plasmid” of Agrobacterium tumefaciens

stands for

(1) Tumour inhibiting plasmid

(2) Tumor independent plasmid

(3) Tumor inducing plasmid
(4) Temperature independent plasmid

Match List I with List II :
List I List IT
Pleurobrachia I.  Mollusca
Radula II.  Ctenophora
Stomochord III. Osteichthyes
Air bladder IV. Hemichordata

Choose the correct answer from the options given
below :

(1) A-IV, B-IL, C-III, D-I

(2) A-IL B-L, C-1V, D-III

(3) A-IL B-1V, C-1, D-I1I

4) A-1V, B-III, C-1I, D-1

Given below are some stages of human evolution.
Arrange them in correct sequence. (Past to
Recent)

A. Homo habilis

B. Homo sapiens

C. Homo neanderthalensis

D. Homo erectus

Choose the correct sequence of human evolution
from the options given below :

(1) D-A-C-B (2) B-A-D-C

(3) C-B-D-A (4) A-D-C-B

Which of the following is not a steroid hormone?

(1) Cortisol (2) Testosterone
(3) Progesterone (4) Glucagon

In both sexes of cockroach, a pair of jointed
filamentous structures called anal cerci are present

on:
(1) 5t segment (2) 10th segment
(3) 8t and 9thsegment (4) 11t segment

Q6_Hindi+English ]

159 9 31 %uF & T ¥ T us v A SR @

160

FROR T

st A : g & @y faamE & fag e ghe &

TS BT § $S T T St 1] Bl WAIH

HT B GATE 3d

FR R : B ¥ B3 I & UIAEl 8l & S

Faerra farg] # wfaqdt ewar SO= H & fag o

SMETS 2d T

I f&u U Ul & gyt ® A few o faeedt 9

T & ST Bl T B

(1) IMANRRTET SRR, A H T WEH = |

(2) @AY A 3T R @& ¥ @feesT R, A &1 Gl Wb
T T

(3) A4 T AfeA R Tod ¥

(4) A TEd ¢ AT R 981 81

g T ZgHbaT % Ti @iteds &1 &t &
(1) =R e wfers
(2) TR @[ TS
(3) T U TS
(4) qAIHH WA WIHS

161 T [ &t g 1 % @rer gAfed si—

162

163

164

oSOowp

T Tl

N CELCT L W@
e 1. aFer
CHHS 1. sifeis
g B IV. zHm@isa

o1 forehedt & TE1 ST &1 99 &

(1) A-1V, B-11, C-IIL, D-I

(2) A-IL, B-I, C-1V, D-III

(3) A-IL, B-1V, C-1, D-I1I

4) A-1V, B-II1, C-I1, D-I

T 7 faere ol $B srawTd & S § 150! (A °

W) & GE HH H Faied & |

A. g s

B. &= dfiga

C. &t fgstdaufyg

D. &l st

T Taseal € Aa {9 & T2 %Y & 999 B

(1) D-A-C-B (2) B-A-D-C

(3) C-B-D-A 4) A-D-C-B

e ¥ B Wiigs M T8 & ?

(1) HrorE (2) TERIA

(3) wmRIH (4) BRI

faeas & 1 fdw & us S w@itged dgaa dxea
1% Tdr @@ @ed €, SuRyd B 8

(1) SdEsw (2) 103 @S X

(3) 89w (4) 1lF@S W

[ Contd...



165 Which one of the following factors will not affect

the Hardy-Weinberg equilibrium?
(1) Genetic recombination

(2) Genetic drift

(3) Gene migration

(4) Constant gene pool

166 Match List I with List II :

List I List IT

A. Pons I.  Provides additional
space for Neurons,
regulates posture
and balance.

B. Hypothalamus II. Controls
respiration and
gastric secretions.

C. Medulla III. Connects different
regions of the brain.
D. Cerebellum IV. Neuro secretory cells

Choose the correct answer from the options given
below :

(1) A-IL, B-IIL, C-1, D-1V

(2) A-II, B-1V, C-I1, D-1

(3) A-L B-1II, C-1I, D-IV

4) A-IL B-L, C-lII, D-IV

167 Match List I with ListII :

List I List 1T
A. Down’ssyndrome 1. 11% chromosome
B. a-Thalassemia II.  “X’ chromosome
C. B-Thalassemia III. 215t chromosome
D. Klinefelter’s IV. 16t chromosome
syndrome

Choose the correct answer from the options given
below :

(1) A-L B-II, C-1II, D-IV

(2) A-IL B-III, C-1V, D-1

(3) A-II, B-1V, C-I, D-II

(4) A-1V, B-I, C-II, D-1I

168 Which one is the correct product of DNA dependent

RNA polymerase to the given template?

3’ TACATGGCAAATATCCATTCAS’
(1) S>AUGUACCGUUUAUAGGUAAGU3’
(2) SAUGUAAAGUUUAUAGGUAAGU3’
(3) SSAUGUACCGUUUAUAGGGAAGU3’
(4) S’ ATGTACCGTTTATAGGTAAGT3’

169 Given below are two statements : one is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : FSH acts upon ovarian follicles in

female and Leydig cells in male.

Reason R : Growing ovarian follicles secrete

estrogen in female while interstitial cells secrete

androgen in male human being.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Both A and R are true and R is the correct
explanation of A.

(2) Both A and R are true but R is NOT the
correct explanation of A.

(3) A istrue but R is false

(4) A s false but R is true
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165 %mﬂﬁﬁ?wmaﬁﬁﬂaﬁwaﬁwﬁﬁﬂﬁ

166 T [ &r gt 11 % @rer gafed s

A. gg %m\zﬁ £l

Frfafied e yee
Har 8, Rafa et
o o
BT &
B. sEUEgeHd II. 999+ 3 wieX &l
C. ﬁ%ﬂg‘dl M. =Rass & faf=
AT bl 379 H
EIENIES
D. V. dfmmmaEmt Sy
= | q &I T Bl TIT B
(1) A-II, B-I1, C-1, D-IV
(2) A-IIl, B-1V, C-II, D-I
(3) A-L B-III, C-II, D-1V
4) A-I, B-1, C-III, D-IV

167 qa%éaﬁ@llﬁsmagﬁrﬁﬁarﬁ—
I

T 1T
A. sted fagm L 1laf o
B. o-derifmEn I X Togs
C. B-IerEifimn 1. 219t orgs
D. FgTheeR g™ IV. 16at o
1 fashedl & |21 ST &1 99 B

(1) A-L B-II, C-1II, D-IV
2) A—II, B—III, C—IV, D-I
(3) A-II B-1V, C-1, D-lI
(4) A-IV, B-1, C-II, D-III
168 %ng%nqﬁz%s%fqéﬁmqﬁﬂ'{ FATTTY YT ST Bl
TG FIT T 7
3’TACATGGCAAATATCCATTCAS’
(1) 5’AUGUACCGUUUAUAGGUAAGU3’
(2) S’AUGUAAAGUUUAUAGGUAAGU3’
(3) S’AUGUACCGUUUAUAGGGAAGU3’
(4) 5’ATGTACCGTTTATAGGTAAGT3’

169 :h%raﬁzﬁ%mﬁﬁnﬁ%:@afwwAamw
FO R
AFAH A : THTETT TaT ¥ SisTei gest of X H
ST BRI UX BT BT & |
0T R : AT gig wid gU TSIl Y2 TS
wﬁam%mﬁswwﬁmaﬁﬂm@ﬁﬁ
Hferd Bl £ |
I fEU U BT % WehteT H e fqu T faeedt & @
I BT TG B
(1) I AFTRTTT TR, A BT Gl WEHI 5 |
(2) :‘g‘fg&aﬁl{w%ﬁ%&Awaﬁwﬁw

|

(3) A4 Wi R e@wd 31
(4) A 318 T Afp R g 3|
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Which of the following is not a natural/traditional
contraceptive method?

(1) Coitus interruptus

(2) Periodic abstinence

(3) Lactational amenorrhea

(4) Vaults

Match List I with List I :
List I List IT
Non-medicated [UD I.  Multiload 375
Copper releasing [lUD  II.  Progestogens
Hormone releasing [UD 1II. Lippes loop
Implants IV. LNG-20

Choose the correct answer from the options given
below :

(1) A-III, B-L, C-II, D-IV

(2) A-L B-IIL, C-1V, D-II

(3) A-IV, B-1, C-II, D-III

(4)  A-IIL, B-I, C-IV, D-II

Consider the following statements :

A. Annelids are true coelomates

B. Poriferans are pseudocoelomates

C. Aschelminthes are acoelomates

D. Platyhelminthes are pseudocoelomates
Choose the correct answer from the options given
below :

(1) Bonly (2) Aonly

(3) Conly (4) Donly

Three types of muscles are given as a, b and c.

Identify the correct matching pair along with their
location in human body :

(c)
Name of muscle/location

Smooth - Toes
Skeletal - Legs
Cardiac - Heart.
Skeletal - Triceps
Smooth - Stomach
Cardiac - Heart.
Skeletal - Biceps
Involuntary - Intestine
Smooth - Heart.
Involuntary - Nose tip
Skeletal - Bone
Cardiac - Heart.

1 @
(b)
(c)
(a)
(b)
(c)
(a)
(b)
(c)
(a)
(b)
(c)

)

3)

4

Q6_Hindi+English ]

39

170 71 o %I | UTehfcsh/aiaInTa THHge faty

171

172

173

Sowp

TE?

(1) wiged 3g<q

(2) oratus gaq

(3) WU I

(4) @

Tl [t g 11 & arg gafad -
ol | T 11
siuferfea syt I #AeMrE 375
qreT A SEgs! Il YeesH
THIA Hiadh SEge! 1. foada qa

. 3fady IV. Taus-20

e faepedt & 981 IR 1 999 BA:

(1) A-IIL B-L, C-II, D-IV

(2) A-L B-IIL C-1V, D-II

(3) A-1V, B-I, C-II, D-III

(4) A-IL B-I, C-IV, D-II
1 weeT oY faam &

A. WS a9 TEE B §

B. drO% %2 [E B ¥

C. UwharidieT oFE™ e &
D. wRfeds g EE Ed §

=1 faeeal & @ 921 ST &1 999 &
(1) %« B (2) FTA
(3) waw C (4) %A@ D

a, bTd c % T H A YHIX &l U <1 715 ¥ | gAfad
g S 3! °ME IR | S9! RAfd &l geang:

3)

“)
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174 Following are the stages of pathway for

conduction of an action potential through the
heart:

A. AV bundle B. Purkinje fibres
C. AV node D. Bundle branches
E. SAnode

Choose the correct sequence of pathway from the
options given below :

(1) E-C-A-D-B (2) A-E-C-B-D
(3) B-D-E-C-A (4) E-A-D-B-C
175 Match List [ with List II :
List I List IT
A. Lipase I.  Peptide bond
B. Nuclease II.  Ester bond
C. Protease II.  Glycosidic bond
D. Amylase IV.  Phosphodiester bond

176

o0 wp

Choose the correct answer from the options given
below :

(1) A-1V, B-II, C-11I, D-1

(2) A-lIL, B-IL, C-1, D-1V

(3) A-IL B-1V, C-1, D-III

(4) A-1V, B, C-11I, D-II

Match List [ with List II :
List I List IT
Axoneme I.  Centriole
Cartwheel II. Cilia and flagella
pattern
Crista [II. Chromosome
Satellite IV. Mitochondria

Choose the correct answer from the options given
below :

(1) A-1V, B-IL, C-I1, D-1
(2) A-1V, B-II, C-IIL, D-I
(3) A-IL B-1V, C-I, D-lII
(4) A-IL, B-L, C-1V, D-III
177 Match List [ with ListII :
List I List IT
(Sub Phases of (Specific
Prophase I) characters)
Diakinesis I.  Synaptonemal
complex formation
Pachytene II. Completion of
terminalisation of
chiasmata
Zygotene III. Chromosomes
look like thin
threads
Leptotene IV. Appearance of
recombination
nodules

Choose the correct answer from the options given
below :

(1) A-IV, B-IL, C-III, D-I

(2) A-L B-II, C-1V, D-III

(3) A-IL B-1V, C-1, D-III

4) A-1V, B-III, C-1I, D-1
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174

175

176

177

A. e

C. fwea

& ¥ fspan fava & daes & =t & Fr ereed #:
A. Udl§Ed B. itk dg

C. uwdiyd D. d3d 9m@En

E. uwauug

o faebeal & € =Tt & @& faehed &1 99T B
(1) E-C-A-D-B (2) A-E-C-B-D

(3) B-D-E-C-A  (4) E-A-D-B-C

Tt [ &t gl 11 % @ gAfead w—

Tl Tl

GIEEE] Uege §Y
=ferTaSt TR §Y

wifeTst . TaEeEEEs g
. THEAS IV. ®EREEURL 89
e forehedt & T ST &1 99 B

(1) A-1V, B-II, C-III, D-I

(2) A-II, B-II, C-1, D-IV

(3) A-II, B-1V, C-1, D-III

(4) A-1V, B-1, C-II, D-II

Tl [t gl 11 & & gatad &3

T 1 T I
A B
TeHTH TS B3N

L.
II.

oOowp

L
B. S@El & ey 11.

Y Yo

. Torgs
D. #aRe IV. g
o1 forehedt & TE1 ST &1 99 B
(1) A-1V, B-III, C-II, D-1
(2) A-1V, B-II, C-II1, D-I
(3) A-I, B-1V, C-I, D-1II
(4) A-IL, B-I, C-1V, D-I1I

Tl 1 ot gt 11 & |1 gafead s

T 1 T 11

(qataean 14 Su (fafaree weqon)

LIEIGE] Rereitme aftas

CARELIL

HITH B

ERINIEEERUEIE|

NAGERGEE RS

feaa ¥
M.

fe@s <t €

1 faseal & 921 SAX &1 999 B

(1) A-1V, B-II, C-III, D-I

(2) A-1, B-II, C-1V, D-1II

(3) A-II, B-1V, C-1, D-III

(4) A-1V, B-III, C-11, D-I

31T
L.

I1.
II.

IV.
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179

A.
B.
C.
D.

Which of the following factors are favourable for
the formation of oxyhaemoglobin in alveoli?
(1) High pO, and High pCO,

(2) High pO, and Lesser H" concentration

(3) Low pCO, and High H" concentration

(4) Low pCO, and High temperature

Match List I with List I :
List I List IT
Pterophyllum I.  Hag fish
Myxine II. Saw fish
Pristis III. Angel fish
Exocoetus IV. Flying fish

Choose the correct answer from the options given
below :

(1) A-IIL, B-I, C-lII, D-IV

(2) A-II, B-1, C-1I, D-IV

(3) A-1V, B-I, C-II, D-I1I

(4) A-II, B-II, C-I, D-IV

180 Match List I with List IT :

181

182

SOw>

List I List IT
Typhoid L. Fungus
Leishmaniasis II.  Nematode
Ringworm II. Protozoa
Filariasis IV. Bacteria

Choose the correct answer from the options given
below :

(1) A-L B-1II, C-II, D-IV

(2) A-1V, B-II, C-1, D-II

(3) A-IIL, B-I, C-IV, D-II

(4) A-IL, B-1V, C-III, D-I

Which of the following statements is incorrect?

(1) A bio-reactor provides optimal growth
conditions for achieving the desired product.

(2) Most commonly used bio-reactors are of
stirring type.

(3) Bio-reactors are used to produce small scale

bacterial cultures.

(4) Bio-reactors have an agitator system,

an oxygen delivery system and foam control

system.

Given below are two statements :

Statement I : In the nephron, the descending limb
of loop of Henle is impermeable to water and
permeable to electrolytes.

Statement II : The proximal convoluted tubule
is lined by simple columnar brush border
epithelium and increases the surface area for
reabsorption.

In the light of the above statements, choose the
correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement II is true
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178  Fibes 3 =1 % | &IF & 52 SIS S

% T e & 7

(1) 3= pO, ud 3= pCO,

(2) == pO, ueda &7 HT dizan
(3) &9 pCO, wd vz H' |igdr
(4) &®" pCO, Ud I dqIhH

179 ot [ &t gt 11 % @rer gafead sa-

180 I | &t gt 11 & = gafaa &
kSl

181

182

Sowp

cowp

T
g
FrerarsT

T I
I. iy
II. 3T 9%e
Hifteq II. dore 9ae
gFIReT IV. S 9%l
ﬁn:r forepeai & TE ST BT TIT B
(1) A-IL, B-I, C-1II, D-IV
(2) A-I, B-1, C-I1, D-IV
(3) A-1V, B, C-11, D-III
(4) A-I, B-II, C-1, D-IV

quhn

11. ﬂ}@‘ﬁ{

o I  iersen

RJECIRUERE] IV.  sframg

ﬁn:f ferehedl & TEN ST BT T B

(1) A-1, B-III, C-II, D-IV

(2) A-1V, B-III, C-1, D-II

(3) AL B-1, C-IV, D-lI

(4) A-I1, B-1V, C-III, D-I

7 o= & i\ &1 Ted § 7

(1) Us ST Fitsd SdTE U™ & Y
TG Rafaat e e §1

(2) facies Yo & IR Gaits Suar &
IS

3)

“4)

-

TAHIES
RINEIEERI]

L.

FERATTFT B A1 # Sam] G949 & Idred
% fere SuamT & @ o E

IR § T el (9eH, siaie Y
GERCEILRECE LK E R RS

e 31 e few U B

Fo | : R H ST W Bl START! ST 5T o {1
IO % 3R faega—sraeres & fog uror 7

o 11 : e dafad e T &b g91 ST
IUHA & S Bl & 3R Y@y & foe s &4
@ Ferdl 51

I fau 7T Bl % garst H 1 faeed! @ @81 I
BT TIT B

(1) 3 Ho 1 iR Hoe 11 T &

(2) < HUA 1 3R B 11 o8 ¥

(3) ®uT 19 T WiehT B 11 318 ¥

(4) ®uT 1 3T & Wl BuT 11 9 7|
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Given below are two statements :

Statement I : The presence or absence of hymen
is not a reliable indicator of virginity.
Statement II : The hymen is torn during the first
coitus only.

In the light of the above statements, choose the
correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement Il is false
(4) Statement I is false but Statement Il is true

Match List [ with List II :
List I List IT
A. Expiratory I.  Expiratory reserve

capacity volume + Tidal
volume +
Inspiratory reserve
volume

Functional II.  Tidal volume +

residual Expiratory reserve

capacity volume

Vital capacity III. Tidal volume +
Inspiratory reserve
volume

Inspiratory IV. Expiratory reserve

capacity volume + Residual

volume
Choose the correct answer from the options given
below :
(1) A-IL B-1V, C-1, D-lII
(2) A-IIL, B-II, C-1V, D-1
(3) A-IL B-I, C-1V, D-III
(4) A-L B-IlI, C-II, D-1V

Following are the stages of cell division :

A. Gap 2 phase B. Cytokinesis

C. Synthesis phase D. Karyokinesis

E. Gap 1 phase

Choose the correct sequence of stages from the
options given below :
(1) C-E-D-A-B

(3) B-D-E-A-C

(2) E-B-D-AC
(4) E-C-A-D-B
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183 AR & wert oy T &

w1 : Afresg @1 IuRafa ar sruitafa St &
fayeeria gas = 31

o 11 : AT bad Ted G9ET % S & edl 81
IR @ T Hot o et & A faw T Tyt | w2
ITX BT TIT B

(1) < %o [ o B 11 9 R |

(2) < BUA 1 oK %o 1l 38

(3) &9 1 9 ¢ @l w11 37 3

(4) ®u 1 TEd ¢ Wit BUT 11 T & |

184 T | &t gt 11 & |y gafaa &

185

el el
A. Fyaes aman I Fooees grida
A + ST
A + 3 Y
i smaad
B. franstia srafite I e emaas +
KLl 1 yow gRfara
CIDGE]
C. 9 &war M. e emaas +
3 ya|T gl
RG]
D. 3fd:9edT & V. 9997 gefea
ST + STafite
DGR
1 faseal & 91 AX &1 999 B
(1) A-II, B-1V, C-1, D-IT
(2) A-II, B-II, C-1V, D-1
(3) A-I, B-1, C-1V, D-III
(4) A-l, B-IIL, C-II, D-IV
e ifytent fearvrer @t sreeamd & g ¥
A. 792 grawen B. ®if¥teEe faursH
C. HQeIwoT yrareen D. & faues
E. 99 yrawen
1 fasbeal & & srawenet & el %A &1 a9 HU:
(1) C-E-D-A-B (2) E-B-D-A-C
(3) B-D-E-A-C (4) E-C-A-D-B
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Given below are two statements :

Statement I : Mitochondria and chloroplasts are
both double membrane bound organelles.
Statement II : Inner membrane of mitochondria
is relatively less permeable, as compared to
chloroplast.

Inthe light ofthe above statements, choose the most
appropriate answer from the options given below :

(1) Both StatementI and Statement Il are correct.
(2) Both Statement I and Statement II are
incorrect.
(3) Statement I is correct but Statement II is
incorrect.
(4) Statement I is incorrect but Statement II is
correct.
Match List I with List II :
List I List IT
Mesozoic Era [.  Lower invertebrates
Proterozoic Era II. Fish & Amphibia
Cenozoic Era [II. Birds & Reptiles
Paleozoic Era IV. Mammals

Choose the correct answer from the options given
below :

(1) A-IL B-L, C-III, D-1V

(2) A-II, B-1, C-1I, D-IV

(3) A-L, B-II, C-1V, D-III

(4) A-IIL, B-I, C-1V, D-II

Given below are two statements :

Statement I : Gause’s competitive exclusion
principle states that two closely related species
competing for different resources cannot exist
indefinitely.

Statement II : According to Gause’s principle,
during competition, the inferior will be eliminated.
This may be true if resources are limiting.

In the light of the above statements, choose the
correct answer from the options given below :
(1) Both Statement [ and Statement Il are true.
(2) Both Statement I and Statement II are false.
(3) Statement I is true but Statement II is false.
(4) Statement I is false but Statement Il is true.

Match List [ with List II :
List I List IT
Unicellular glandular 1.  Salivary glands
epithelium
Compound epithelium 1II. Pancreas
Multicellular III. Goblet cells of
glandular epithelium alimentary canal
Endocrine glandular ~ IV. Moist surface of

epithelium buccal cavity
Choose the correct answer from the options given
below :
(1) A-IlL, B-L, C-lII, D-IV
(2) A-1V, Bl C-1, D-1I
(3) A-IL B-1V, C-I, D-II
(4) A-IL B-L, C-1V, D-III
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A.

A & woe fgg o R

F 1 : BT 3T FArane aFt aredl e
ST it ¥

o 11 : BT Dl 33T FARTARE Dbl Jom §
STUATHA HH UTCTT Bl 5 |

3 faU TT AT b yebter H o faehed @ g€ @
TR BN TIT B

(1) a1 %o 1 o) o 11 @21 )

(2) < a1 8T B 11 TTed |

(3) ®uA 1T & AAfeh %= 11 Tad |

(4) %917 & Afehd bae 118l 2

Tl [ ot g 11 & a1 gafiad -

T 1 @ 11

Hisiroiigs HeThed 1 STheTE®
ISIEH HEThed A T THiean
Oreiigs wetbed 1. el 9 99y
Yfaeigsd meed [V, &ward
ﬁﬁlﬁﬁlﬁ@fﬂé’rwwww

(1) A-II, B-1, C-III, D-1V

(2) A-II, B-1, C-II, D-1V

(3) A-L B-II, C-1V, D-1II

(4) AL, B-I, C-1V, D-1I

g 31 e g T &

Fo 1 2 e & et saasty fasia & ergar fafim
GaTert o foT wel &1 eeaw getia wWislier saa
qh 1Y 1Y 7TEl & Gobal |

o 11 : 19 & fagia & ogar, @l & a9 e
et fau Sird € | I T 81 FebhaT § W9 ey diftd
T E|

U few T et &% wapteT ® A I Tu fawedt | wEy
I BT T BAU:

(1) < %o 1 &R b 11 9 B |

(2) < B 1 R B 11 a8 ¥

(3) ®uw 1T T With b 11 318 & |

(4) ®UF 1 3T ¥ Wl BuT 11 9T 7|

Tl [ ot g 11 & a1 gafad sa—
T 1 T 11
Tehah 3T o

GEEICEI
IYHl

YT U
TEHIADBA
Tfrer Sueher HAIT BITITBIT
siq-wrer Wa Sumenr V. @ &1 6l 99 Ta8
ﬁn:f ferepedi  TE ST BT TIT B

(1) A-IL, B-I, C-III, D-IV

(2) A-1V, B-III, C-I, D-II

(3) A-II, B-1V, C-I, D-lI

(4) A, B-1, C-1V, D-1II

L.
I1.

L

II.
II.

T
JTETX T bl
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190 Match List I with List Il related to digestive system

191

A.
B.

of cockroach.
List I List IT
The structures used I.  Gizzard
for storing of food.
Ring of 6-8 blind II.  Gastric
tubules at junction of Caeca
foregut and midgut.
Ring of 100-150 yellow  III. Malpighian
coloured thin tubules
filaments at junction of
midgut and hindgut.
The structures used IV. Crop
for grinding the food.

Choose the correct answer from the options given
below :

(1) A-1V, B-Il, C-IIL, D-1

(2) A-L B-II, C-lII, D-IV

(3) A-1V, B-IL, C-II, D-1

(4) A-IIL, B-II, C-1V, D-1

Choose the correct statement given below

regarding juxta medullary nephron.

(1) Juxta medullary nephrons are located in the
columns of Bertini.

(2) Renal corpuscle of juxta medullary nephron
lies in the outer portion of the renal medulla.

(3) Loop of Henle of juxta medullary nephron
runs deep into medulla.

(4) Juxta medullary nephrons outnumber the

cortical nephrons.

192 Match List I with List IT :

193
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List I List IT

RNA polymerase I11 I.  snRNPs
Termination of

transcription II.  Promotor
Splicing of Exons III. Rho factor
TATA box IV. SnRNAs, tRNA

Choose the correct answer from the options given
below :

(1) A-IL, B-1V, C-I, D-III

(2) A-IIL, B-II, C-1V, D-1

(3) A-IIL, B-1V, C-I, D-1I

(4) A-1V, B-II, C-1, D-II

Given below are two statements :

Statement I : The cerebral hemispheres are

connected by nerve tract known as corpus

callosum.

Statement II : The brain stem consists of the

medulla oblongata, pons and cerebrum.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) Both StatementI and Statement Il are correct.

(2) Both Statement I and Statement II are
incorrect.

(3) Statement I is correct but Statement II is
incorrect.

(4) Statement I is incorrect but Statement II is

correct.
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A. 99 §URRd ® & e swam L gl
T 1ol §LEEY | |

B. ORI 9 HeGiS & GiUad U II. <X
6-8 3ier AATTehIST &l I YA

C. W 9 999isl & GIRId U 1. Fedrf
100-150 dret &1 % gqa agait Afererd
HT Ig

D. o &l 4| & fag IV. &=ge
ERRIMIESEG I

T Tasbeal & TE1 AT & 999 B

(1) A-IV, B-IL, C-III, D-1
(2) A-1, B-II, C-III, D-IV
(3) A-1V, B-III, C-I1, D-1
(4) A-II, B-II, C-1V, D-1
wif=er weAteT gapropstl ¥ dafua e weel | |2
1 TIT & |
(1) @rf=1eg gegier gabrv] aai-l & A 3 Req

B F
(2) wf~=Ted AEAteT JabTY] BT b T4STY] et HEATH
% Sredl fee o T B
TITEg TERTST JerbT] BT &1 TIST HEATST A TETS
EASIRIES
qif~Teg qegis gan1y] aegperd Janly] o it
T 2

3)

)

192 &t [ &t gt 1 & arer gafad s

193

A
B
C
D

el Tl
. oAU gt I I snRNPs
. STIeTEA & FHIIT . =&
. D B GHIYT . T &R®
. TATA i IV. SnRNAs, tRNA
1 Taseal & 981 AT &1 99 B

(1) A-IIL B-1V, C-I, D-III

(2) A-IIL B-II, C-1V, D-I

(3) A-IIL B-1V, C-1, D-II

4) A-1V, B-II1, C-1I, D-II

a3 e faw T R

o 1 : TARTh TS et 92el &0 IS Bid & o
HYE HATaH Bed & |

w11 : Afaws &9 § Asge siEarier, 9 afix
e o

TR T T4 Bl % gebier ® e foedl o 999 T2
I BN TIT B

(1) 3 %o 18X ®o 11 92 ¥

(2) 3 ®u 1 3R %o 11 7Ted & |

(3) ®u 19 ¥ Wite U 11 T 2|

(4) ®uF 17T & Al Hoe 11 G 7|
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194 Identify the correct option (A), (B), (C), (D) with
respect to spermatogenesis.
GnRH
[ | |
LH (A)
y 2
®) ©)
{ {
Androgens Factors
\ \
Formation of spermatids D)
(1) FSH, Leydig cells, Sertoli cells,
spermiogenesis
(2) ICSH, Interstitial cells, Leydig cells,
spermiogenesis.
(3) FSH, Sertoli cells, Leydig cells,
spermatogenesis.
(4) ICSH, Leydig cells, Sertoli cells,
spermatogenesis.
195  As per ABO blood grouping system, the blood
group of father is B, mother is A" and child is
O*. Their respective genotype can be
A Bi/IAi /i B. IBIB/IAIA /ii
C. IAIB/ilIA/IBi D. IA/1IBi/ 1A
E. iIB/ilA/TAB
Choose the most appropriate answer from the
options given below :
(1) Aonly (2) Bonly
(3) C&Bonly (4) D &Eonly
196 Given below are two statements :

Statement I : Bone marrow is the main lymphoid
organ where all blood cells including lymphocytes
are produced.

Statement II : Both bone marrow and thymus
provide micro environments for the development
and maturation of T-lymphocytes.

Inthe light ofthe above statements, choose the most
appropriate answer from the options given below :
(1) Both StatementI and Statement Il are correct.
(2) Both Statement I and Statement II are
incorrect.

Statement I is correct but Statement II is
incorrect.

Statement I is incorrect but Statement Il is
correct.

3)
)
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194  gphore & @& 7 (A), (B), (C), (D) % |21 ferebeq i

el |

[ I
GV
\:
©
\
b1
\

USTeRT] T Frrefor D)

HEINERN]
HEINERN]
ST
ST

M
)
3)

4

195  ABO %fuR & gomell & STgaR fuar &1 sf4x & BT,
AT BT AT 3R I &1 O % | 377 9T SISy &
T &

A. IBi/IAi/ii
C. TAIB/iIA/1Bi
E. iIB/ilA/IAIB
1 fasbeal € 999 91 3T 61 999 B
(1) %aa A (2) %ad B

(3) da@CXB  (4) Haw DRE

IBIB / IATA /i
AL/ 1Bi /1A

B.
D.

196 < < e fou g &

Fo 1 : 1Ry wosT Jed TEeIH S & S8l a™ih]
Tt T T HITHT IaATEd Bl 2 |

T 1L : S Sy HooT Ud rgHd -y &
T wd uftuees & fog gea ararae yem
H

IR 4w U At &6 yepret H T faepedt & watfus
e AL BT T9 B

(1) a1 %o 18X ®o 11 92 ¥

(2) 3 Hu 1 3R %o 11 7T & |

(3) ®u 142 § wied Hu 11 Tdd 2|

(4) ®uF 1 7TAd & Al Ho 11 G 7
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198

199

A.

B.

200

c o w »

Regarding catalytic cycle of an enzyme action,
select the correct sequential steps :

A. Substrate enzyme complex formation.

B. Free enzyme ready to bind with another
substrate.

C. Release of products.

D. Chemical bonds of the substrate broken.

E. Substrate binding to active site.

Choose the correct answer from the options given
below :

(1) E;,A,D,C,B
(3) B.A,C,D.E

(2) A.E,B,D,C
(4) E,D,C,B,A

Match List I with List I :

List I List IT

P wave I.  Heart muscles are
electrically silent.

QRS complex II. Depolarisation of
ventricles.

T wave III. Depolarisation of
atria.

T-P gap IV. Repolarisation of
ventricles.

Choose the correct answer from the options given
below :

(1) A-L B-1I, C-1V, D-1I

(2) A-IIL B-II, C-1V, D-1

(3) A-IlL, B-III, C-I, D-IV

(4) A-1V, B-II, C-1, D-III

Match List [ with List II :

List I List IT
Exophthalmic I.  Excess secretion of
goiter cortisol, moon face &
hyperglycemia
Acromegaly II.  Hypo-secretion
of thyroid hormone
and stunted growth.
Cushing’s III. Hyper secretion
syndrome of thyroid hormone &
protruding eye balls.
Cretinism IV. Excessive secretion

of growth hormone.
Choose the correct answer from the options given
below :
(1) A-L B-1II, C-1I, D-IV
(2) A-1V, B-IL, C-1, D-III
(3) A-II, B-1V, C-11, D-1
(4) A-IIL B-1V, C-I, D-II

The following are the statements about non-
chordates :

A. Pharynx is perforated by gill slits.

B. Notochord is absent.

C. Central nervous system is dorsal.

D. Heart is dorsal if present.

E. Post anal tail is absent.

Choose the most appropriate answer from the
options given below :

(1) A& Conly (2) A,B&Donly

(3) B,D&Eonly (4) B,C&Donly
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197 o isTTE Bt 35 et = 3 st &t o

IO BT TG HU:
A. Tramam demgw |itag &1 fHE)

B. e USEH &l 31 fhaneR § e & fag
LRI

TS BT HITH |

D. frarear & TEmaie g 72 9 2

E. WH‘I’(WB@WWWEWI

= faedl & 9E 3 &1 99 &
(1) E,A,D,C,B (2) A,E,
(3) B,A,C,D,E (4) E,D,

C.

B,D,C
C, B A

198 gt [ &1 el 11 % wner gafnd ot
|

T

A. Pai L.

T
&eg vl fargar
9Tl Bl &
1. fear & faga
C. Tat [1I. sl @1 fagaw
D. T-Piy V. et &1 ga:gau
1 fashedl & |21 ST &1 99 B
(1) A-L B-IIL C-IV, D-Il
(2) A-IL, B-IL, C-1V, D-I
(3) A-IL, B-IIL, C-I, D-IV
(4) A-1V, B-II, C-1, D-III

B. QRS aftag

199 o [ &t gdt 1 % @rer gafad s

200

T
A. TFEdale
TS

T 11
BTG I ST
|, AETHIT T
TS STfereist el
ATZAZS ETHM Bl ST
A UF % ghg
A1ZAI3S ETHA &l 3l
ST T I T
SERIKET

gig EMH &
STTTS T

1 faseal & 91 X &1 999 B

(1) A-1, B-III, C-II, D-IV

(2) A-1V, B-II, C-1, D-1IT

(3) A-II, B-1V, C-I1, D-1

(4) A-II, B-1V, C-1, D-lI
:ﬁﬁmﬁﬂﬁéﬁﬁwﬁaﬁm%

TET T foog & st Bt @

Y8 o] U B ¥

HS A aF gS BT §

T3d Iis SURyd BT & o g5 & §

T&T UgE YIS STURed Bl &
WW%WH@WWWW&

(1) daa@ AsiRC  (2) »ad A, B3R D
(3) &aw@ B,DXE (4) %aw B, C i D

L.

B. arfqemEar
C. iy fagm

II.

III.

D. eHar V.

SECReN-IS
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fFefofae HEsT ear7 @ a2 -

Read carefully the following instructions :

6.

10.

11.

12.

13.
14.

15.

16.

17.

T TR 89X, gdeedt et/ sid Se ¥ gd ST
U (g ufaferty us shraies giatara ) shey FHideres
ohT TG WU S | Tdamedt 797 Trer wo giedeht oFf 5
e B

3 gftaent o1 Gohd & Q61 o7 gifyea e faR
T GahT ol Hohd, IAL TR oh Jo1 Afdfoiia ag a1
T Hehd | fherar €1 e Ig fust 2 ot wdameff gud
e giadet 3R SR U3 o1 & fag fdes i i
TS AW |

Tiremedf gifeea i foh 39 S 9= =01 Arer 7 S
IH W 377 T2 9 e | qleqeft s1aen STk
¥ gfkenl/Ia 99 § Fuifa Tum & sifafed s==
=1 ferd |

I 9 W frdft ghR & HeeE Y =R KES F
TART St AT T 2 |

IS 9 W Y glanefl, et =1 79 gae-ua
fe@md |

g arefteren a1 e w1 foR e1gafa & foa =8
Thefeft ST T A B |

HE@ e &1 e19A1 3w U feu faqr wa
Iufkerfd-—us/es 9 g saR (T % 91) feRg
fomr g adeneff gdan sfa &1 |t afe feer
gitgrrell § gET IR SufEeIfd-usah UX e TE@
ferT ot o AT ST foh Sae AU @ e g
SR TE o |rer Sht JIHET WET ST |
I eh / BXA=TeId Uiisheteh hl SUANT Afid B |
T{eT-ReT/ BT W A0 o fag udemedl, adem &
i wd faframi gro frafaa € sfea wem &
goft A =1 aen 59 Tdet o i wd fafazdi &
SR EN

feret TromTa & uder gfcent i SR U &t &g
W ST AR

et gRent / AU | fau T gden gRent Seohd &l
Tdaneff T aler ¥ sufeafa-uwe § foag |

A = 9 fire @t srafy &l alien % fag o g
Ut fFe @1 gfaqie @9 Yo fear s, 9
g eredt (S ferew & fou smdife &0 @ ergem
1), BhIES BT IUART HIAT & a1 Tel |

6.

~]

10.

11.

12.

13.
14.

15.

16.

17.

On completion of the test, the candidate must
hand over the Answer Sheet (ORIGINAL and
OFFICE Copy) to the Invigilator before leaving
the Room/Hall. The candidates are allowed to take
away this Test Booklet with them.

The CODE for this Booklet isQG. Make sure
that the CODE printed on the Original Copy
of the Answer Sheet is the same as that on
this Test Booklet. In case of discrepancy, the
candidate should immediately report the matter to
the Invigilator for replacement of both the Test
Booklet and the Answer Sheet.

The candidates should ensure that the Answer
Sheet is not folded. Do not make any stray marks
on the Answer Sheet. Do not write your Roll No.
anywhere else except in the specified space in the
Test Booklet/Answer Sheet.

Use of white fluid for correction is NOT permissible
on the Answer Sheet.

Each candidate must show on-demand his/her
Admit Card to the Invigilator.

No candidate, without special permission of the
centre Superintendent or Invigilator, would leave
his/her seat.

The candidates should not leave the Examination
Hall without handing over their Answer Sheet to
the Invigilator on duty and sign (with time) the
Attendance Sheet twice. Cases, where a
candidate has not signed the Attendance
Sheet second time, will be deemed not to
have handed over the Answer Sheet and
dealt with as an Unfair Means case.

Use of Electronic/Manual Calculator is prohibited.
The candidates are governed by all Rules and
Regulations of the examination with regard to their
conduct in the Examination Room/Hall. All cases
of unfair means will be dealt with as per the Rules
and Regulations of this examination.

No part of the Test Booklet and Answer
Sheet shall be detached under any
circumstances.

The candidates will write the Correct Test Booklet
Code as given in the Test Booklet/Answer Sheet
in the Attendance Sheet.

Compensatory time of one hour five minutes
will be provided for the examination of three
hours and 20 minutes duration, whether such
candidate (having a physical limitation to
write) uses the facility of Scribe or not.
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